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B.Com. DEGREE EXAMINATION, NOVEMBER 2023 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is double entry system? 

Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

2. What is Trial Balance? 

C¸¨£õ´Ä GßÓõÀ GßÚ? 

3. What is Rectification of Error? 

¤øÇzv¸zu® GßÓõÀ GßÚ? 

4. What is cash book? 

öμõUP ¦zuP® GßÓõÀ GßÚ? 

5. What is depreciation account? 

÷u´©õÚ PnUS GßÓõÀ GßÚ? 

6. What is Annuity method? 

BskuÁøn •øÓ GßÓõÀ GßÚ? 
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7. What is profit and loss account? 
C»õ£&|mh PnUS GßÓõÀ GßÚ? 

8. What is balance sheet? 
C¸¨¦ {ø» SÔ¨¦ GßÓõÀ GßÚ? 

9. What is interest? 
Ámi GßÓõÀ GßÚ? 

10. What is forward method? 
•ß÷ÚõUS •øÓ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the limitations of double entry system? 
   Cμmøh £vÄ •øÓ°ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Prepare journal entries for the following 
transactions on March 2021. 

1. Business started with cash Rs.5,00,000
3. Cash deposited into Bank Rs.2,50,000
4. Land Purchased Rs.1,25,000

10. Cash withdraw from Bank Rs.50,000
15. Goods sold Rs.25,000

   R÷Ç öPõkUP¨£mh |hÁiUøPPÐUS SÔ¨÷£mk 
£vÄPøÍ 2021, ©õºa ©õuvØS u¯õ›. 

1. öμõUPzxhß öuõÈÀ 
öuõh[Q¯x ¹. 5,00,000

3. öμõUP® Á[Q°À ö\¾zv¯x ¹. 2,50,000

4. {»® Áõ[Q¯x ¹. 1,25,000

10. Á[Q°¼¸¢x öμõUP® Gkzux ¹. 50,000

15. ö£õ¸mPÒ ÂØÓx ¹. 25,000
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12. (a) Write a short notes on Suspense Account. 

   AÚõ©zx PnUS SÔzx ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) The bank overdraft of R on 31.12.2020 as per cash 
book is Rs.9,000. From the following particulars 
prepare bank Reconciliation statement. 

  Rs. 

1 Unpresented cheque 3,000

2 Uncleared cheque 1,700

3 Bank interest debited in the pass  
book only 

500

4 Cheque of Renu dishonoured 500

   31.12.2020 À B›ß Á[Q ÷©À Áøμ£ØÔß£i 
öμõUP ¦zuPzvß C¸¨¦ ¹.9,000. ¤ßÁ¸® 
ÂÁμ[PøÍ öPõsk Á[Q \›Pmk® £mi¯ø» 
u¯õ›. 

  ¹. 

1 \©º¤UP¨£hõu Põ÷\õø» 3,000

2 £n©õUP¨£hõu Põ÷\õø» 1,700

3 Á[Q Ámi ö\À÷»miÀ 
£ØÖøÁUP¨£mkÒÍx 500

4 ÷μÝÂß Põ÷\õø» AÁ©vUP¨£mhx 500

13. (a) What are the perpass for providing depreciation? 

   ÷u´©õÚ® PnUQkÁuØPõÚ ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) A company purchased a Machine for Rs.50,000. The 
useful life of the plant is 10 years and the residual 
value is Rs.10,000. Point out the rate of depreciation 
under the straightline method. 
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J¸ P®ö£Û ¹.50,000 US C¯¢vμzvøÚ 
Áõ[Q¯x. Auß £¯ß£õk 10 BskPÒ GÚÄ® 
¹.10,000 Auß Gg]¯ ©v¨£õS®. GÚUöPõsk 
÷|º÷Põmk •øÓ°À ÷u´©õÚ ©v¨¤øÚ PshÔP. 

14. (a) Prepare Trading Account for Sejashree for the year 
ending 31st March 2021. From the following figures. 

 Rs. 
Sales 7,00,000
Purchase 3,00,000
Wages 40,000
Stock (April 1, 2020) 60,000
Carriage in wards 5,000
Return out wards 5,000
Return in wards 6,000
Closing stock 50,000

   ÷\áõÿ Gß£Á›ß 31 ©õºa 2021 ® |õ÷Íõk 
•iÁøh²® BskS›¯ Â¯õ£õμ PnUQøÚ 
u¯õ›UP. 

 ¹. 

ÂØ£øÚ 7,00,000
öPõÒ•uÀ 3,00,000
T¼ 40,000
\μUQ¸¨¦ (H¨μÀ 1, 2020) 60,000
EÒ yUS T¼ 5,000
öÁÎ v¸¨£® 5,000
EÒ v¸¨£® 6,000
CÖv \μQ¸¨¦ 50,000

Or 

 (b) What are the difference between Receipt and 
Payment Account and income and expenditure 
account? 

   ö£¸uÀ ö\¾zxuÀ PnUQØS® Á¸Áõ´ ö\»ÂÚ 
PnUQØS©õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 
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15. (a) How do you calculate interest under average due 
date method? 

   \μõ\› uÁøn •øÓ°À Ámi°øÚ }Âº GÆÁõÖ 
PnUQkÁõ´? 

Or 

 (b) Find out net interest to be credited under Daily 
balance method from the following data: 

  Interest on debit balances : 15% 
  Interest on credit balances : 12% 
  Total of products : Debit : 1,08,000 
  Credit : 31,46,000 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x vÚ\› C¸¨¦ •øÓ£i 
{Pμ Ámi°øÚ PnUQkP. 

  Ámi £ØÔ¸¨¦ : 15% 

  Ámi ÁμÂ¸¨¦ : 12% 

  ö©õzu ö£õ¸mPÒ :  

  £ØÖ : 1,08,000 

   ÁμÄ : 31,46,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare a Trial Balance from the following details. 

 Rs.  Rs.
Capital 23,600 Opeing Stock 42,000
Drawings 10,000 Purchases 72,000
Sales 1,44,000 Purchase return 4,000
Sales returns 6,000 Debtors 9,000
Creditors 5,000 Furniture 1,800
Bills Receivable 4,600 Bills Payable 8,400
Wages 2,400 Advertisement 1,200
Discount allowed 200 Commission Received 1,200
Machinery 40,000 Cash in hand 7,000
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 RÌPsh ÂÁμ[PøÍU öPõsk C¸¨£õ´Ä u¯õ›UP. 

 ¹.  ¹.

•uÀ 23,600 öuõhUP \μUQ¸¨¦ 42,000
Gk¨¦PÒ 10,000 öPõÒ•uÀ 72,000
ÂØ£øÚ 1,44,000 öPõÒ•uÀ v¸¨£® 4,000
ÂØ£øÚ v¸¨£® 6,000 PhÚõÎPÒ 9,000
PhÜ¢÷uõº 5,000 AøÓP»ß 1,800
ö£ÖuØSÔ¯ 
©õØÖ^mk 

4,600 ö\¾zuØS›¯ ©õØÖ 
^mk 

8,400

T¼ 2,400 ÂÍ®£μ® 1,200
AÎzu uÒÐ£i 200 PÈÄ¨ ö£ØÓx 1,200
C¯¢vμ® 40,000 øP°¸¨¦ öμõUP® 7,000

17. Rectify the following errors without using a suspense 
account. 

 (a) Purchase of furniture Rs.2,500 passed through 
purchase day book. 

 (b) Goods worth Rs.1,000 used by the proprietor not 
recorded in the book. 

 (c) Credit sales to Ramu Rs.1,500 wrongly credited to 
his account.   

 (d) Payment to Gopal Rs.450 posted to his account as 
Rs.540. 

 AÚõ©zx PnUQøÚ £¯ß£kzuõ©À ¤ßÁ¸® 
¤øÇPøÍ v¸zu® ö\´P. 

 (A) AøÓP»ß Áõ[Q¯ ¹.2,500 öPõÒ•uÀ vÚ\› 
¦zuPzvÀ £v¯¨£mkÒÍx. 

 (B) ¹.1,000 UPõÚ ö£õ¸mPøÍ E›ø©¯õÍº GkzxU 
öPõshøu PnUQÀ £v¯¨£hÂÀø». 

 (C) Cμõ•US ö\´u Phß ÂØ£øÚ¯õÚ ¹.1,500 AÁμx 
PnUQÀ ÁμÄ øÁUP¨£mkÒÍx. 

 (D) ÷Põ£õ¾US ö\¾zv¯ ¹.450 uÁÖu»õP AÁμx 
PnUQÀ ¹.540 BP £v¯¨£mkÒÍx. 
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18. A company purchased a second hand machinery for 
Rs.30,000. It immediately spent on it Rs.5,000. It was put 
to use on 1.1.2015. After having used it for six years. It 
was sold for Rs.15,000. Prepare the machinery account 
for 6 year, providing depreciation at 10% on straighline 
method. 

J¸ P®÷£Û ¹.30,000 US •ß÷ÚÓ £¯ß£kzv¯ 
C¯¢vμzøu ¹.30,000US Áõ[Q, EhÚi¯õP ¹.5,000 
AuØS ö\»Âh¨£mhx. 1.1.2015 •uÀ BÖ 
BskPÐUS £¯ß£kzv¯ ¤ß ¹.15,000US 
ÂØP¨£mhx. BÖ BskPÐUS C¯¢vμ PnUQøÚ 10% 
Âu ÷u´©õÚzxhß ÷|º÷Põmk •øÓ°À u¯õ›. 

19. From the following balances extracted at the close of the 
year ended 31st Dec.2020, prepare profit and loss account 
of Mr. Rohith as at that date: 

 Rs.  Rs.

Gross profit 55,000 Repairs 500

Carriage on sales 500 Telephones expense 520

Office Rent 500 Interest (Dr.) 480

General Expenses 900 Fire Insurance 
Premium 900

Discount to 
customers 

 
360 

Bad debts 2100

Interest from Bank 200 Apprentice Premium 
(Cr.) 1,500

Travelling expenses 700 Stationery 2,500

Salaries 900 Trade expenses 300

Commission 300  
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 31 i\®£º 2020 ® |õøÍ¯ C¸¨¦PÒ ¤ßÁ¸©õÖ  
v¸. ÷μõQz Gß£Á›ß C»õ£ |mh PnUQøÚ u¯õ›. 

 ¹.  ¹.

ö©õzu C»õ£® 55,000 £Êx £õº¨¦ 500

ÂØ£øÚUPõÚ yUS 
T¼ 

 
500 

öuõø»÷£] 
ö\»ÄPÒ 

520

A¾Á»P ÁõhøP 500 Ámi (£ØÖ) 480

ö£õx ö\»ÄPÒ 900 w Põ¨¤mk 
•øÚ©® 

900

ÁõiUøP¯õÍ¸US 
AÎzu uÒÐ£i 

 
360 

ÁμõPhß 2100

Á[Q°hª¸¢x ö£ØÓ 
Ámi 

 
200 

£°Øa]PõÚ 
•øÚ©® (ÁμÄ) 1,500

£¯Ú ö\»Ä 700 GÊx¨ö£õ¸Ò 2,500

\®£Í® 900 Â¯õ£õμ ö\»ÄPÒ 

300

PÈÄ 300  

20. List out the guidelines for ascertaining due dates of 
transactions. 

|hÁiUøPPÎß uÁøn |õøÍ PnUQkuÐUPõÚ 
ÁÈPõmk ö|Ô•øÓPøÍ £mi¯¼kP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define business.  

Â¯õ£õμzvøÚ Áøμ¯ÖUP. 

2. What is Industry? 

öuõÈÀ GßÓõÀ GßÚ? 

3. What is sole trader? 

uÛ¯õÒ ÂØ£øÚ¯õÍº GßÓõÀ GßÚ? 

4. Define Partnership deep? 

Tmk J¨£¢uzøu Áøμ¯ÖUPÄ®. 

5. What is size of a firm? 

J¸ {ÖÁÚzvß AÍÄ GßÓõÀ GßÚ? 

6. What do you mean by evils of big business? 

ö£›¯ ÁoPzvß wø©PÒ GßÓõÀ GßÚ? 

Sub. Code 
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7. State the meaning of Chief executives. 

uø»ø© {ºÁõQPÎß ö£õ¸øÍ TÖP. 

8. What is a Shareholders? 

£[SuõμºPÒ GßÓõÀ GßÚ? 

9. What is mean by Public utilities? 

ö£õx £¯ß£õkPÒ GßÓõÀ GßÚ? 

10. What is Pricing Policy? 

Âø»U öPõÒøP GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the benefits of industrial revolution? 

   öuõÈÀxøÓ ¦μm]°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the qualities of good business man. 

   |À» öuõÈ»v£›ß Sn[PøÍ ÂÁ›. 

12. (a) Explain the features of Joint Stock Company. 

   Tmk £[S {ÖÁÚzvß •UQ¯zxÁzøu ÂÁ›. 

Or 

 (b) Interpret about ideal form of organisation.  

   Aø©¨¤ß ]Ó¢u ÁiÁ® £ØÔ _¸UP©õP ÂÍUSP. 
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13. (a) Explain the various types of firms. 

   £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ[PøÍ ÂÁ›. 

Or 

 (b) What are the focus the evils of big business? 

   ö£¸ÁoPzvß wø©PÒ ¯õøÁ? 

14. (a) What are the powers and duties of chief executives? 

   uø»ø© {ºÁõQPÎß AvPõμ[PÒ ©ØÖ® Phø©PÒ 
¯õøÁ? 

Or 

 (b) Explain the various types of managerial problems. 

   £À÷ÁÖ ÁøP¯õÚ {ºÁõP ¤μa]øÚPøÍ ÂÁ›. 

15. (a) What are the rights and duties of public utilities? 

   ö£õx £¯ß£õkPÎß E›ø©PÒ ©ØÖ® Phø©PÒ 
¯õøÁ? 

Or 

 (b) Explain the advantages of Management 

  {ºÁõPzvß |ßø©PøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly explain the characteristics of business. 

ÁoPzvß £s¦PøÍ Â›ÁõP ÂÍUSP. 

17. Distinguish between sole trader and partnership. 

uÛ¯õÀ ÁoP® ©ØÖ® Tmhõsø©US® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ. 
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18. Explain the factors that influence the optimum size of the 
firm. 

{ÖÁÚzvß EP¢u AÍøÁ £õvUS® PõμoPøÍ 
ÂÍUSP. 

19. Explain the roles and responsibilities of a Managing 
Director. 

J¸ {ºÁõP C¯USÚ›ß £õzvμ[PÒ ©ØÖ® ö£õÖ¨¦PøÍ 
ÂÍUSP. 

20. Explain the detail the problems faced by Public 
enterprises.  

ö£õx {ÖÁÚ[PÒ GvºöPõÒÐ® ¤μa\øÚPøÍ Â›ÁõP 
ÂÍUPÄ®. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you understand by Bills of Exchange?  

©õØÖa^mkPÒ £ØÔ }Âº ¦›¢x öPõÒÁx GßÚ? 

2. What is meant by Retiring of bills? 

•vºÄUS •¢øu¯ ©õØÖa^mk GßÓõÀ GßÚ? 

3. What do you know about Annual turnover? 

Bsk ÂØ£øÚ £ØÔ }Âº AÔÁx GßÚ? 

4. What is meant by Claim? 

E›ø©U÷Põ›UøP GßÓõÀ GßÚ? 

5. Write the meaning of Account Sale. 

ÂØ£øÚ AÔUøP Gß£uß ö£õ¸Ò GÊxP. 

6. What do you mean by Normal Loss? 

\õuõμn |mh® Gß£uß ö£õ¸Ò GßÚ? 

 

Sub. Code 
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7. What do you know about Calculating unsold Stock? 

ÂØUP¨£hõu \μUQß ©v¨¦ PnUQkuÀ £ØÔ }Âº 
AÔÁx GßÚ? 

8. What is meant by Joint bank account? 

Cøn Á[QU PnUS GßÓõÀ GßÚ? 

9. What do you understand by Statement at affairs method? 

{ø» AÔUøP •øÓ¨ £ØÔ }Âº ¦›¢xöPõÒÁx GßÚ? 

10. What is meant by Closing Capital? 

CÖv •uÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the features of bill of exchange? 

   ©õØÖa^miß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) On Apr. 20th Mr. X sold goods to Mr. Y and draw a 
bill of Rs. 1,000 which Y accepts immediately and 
returns on X, the due data, pass entries in the books 
of X and Y. 

   H¨μÀ 20® ÷uv v¸ X Gß£Áº Y US ö£õ¸Ò 
ÂØ£øÚ ö\´x, ©õØÖa ^mk JßÖ ¹. 1,000US 

Áøμ¢uõº, Eh÷Ú Y AuøÚ HØÖU öPõsk,  

X – US v¸¨¤ AÝ¨¤Úõº, SÔ¨¤mh ÷uv°À 

©õØÖa^mkUS £n® ö\¾zu¨£mhx GÛÀ X ©ØÖ®  

Y ß PnUQÀ £vÄPøÍ GÊxP. 
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12. (a) A fire occurred on 31.3.2020 in the premises of 
merchant. Draft a statement showings the amount 
of claim to be ledged. 

     Rs. 

Stock on 31.3.2020   30,000 

Purchases from 1.4.2019 to 31.3.2020 3,60,000 

Sales from 1.4.2019 to 31.3.2020 4,50,000 

Gross profit on sales was 25% and stock salvaged 
was at Rs. 4,000. 

31.3.2020 AßÖ A¢{ÖÁÚzvÀ HØ£mh w 
Â£zvØPõÚ ¤ßÁ¸® ÂÁμ[PøÍ öPõsk 
Põ¨¥mk CÇ¨¥miØPõÚ AÔUøP°øÚ u¯õº 
ö\´P. 

¹. 

31.3.2020ß £i \μUQ¸¨¦ 30,000 

1.4.2019 •uÀ 31.3.2020  
Áøμ°»õÚ öPõÒ•uÀ  3,60,000 

1.4.2019 •uÀ 31.3.2020  
Áøμ°»õÚ ÂØ£øÚ  4,50,000 

  ÂØ£øÚ «uõÚ ö©õzu C»õ£® 25% 

  £õxPõUP¨£mh \μUS  4,000 

Or 

 (b) Explain the importance of Memorandum of trading 
account.  

  Aø©¨¦ Â¯õ£õμU PnUQß •UQ¯zxÁzøu 
ÂÍUSP. 
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13. (a) Ramesh of Chennai Consigned 110 units of 
Cosmetics each costing Rs. 600 to his agent  
Mr. Mani of Delhi. He paid Rs. 3,000 towards 
freight and Insurance. Consignee took delivery of 
the goods and spent Rs. 6,000 as clearing charges 
and Rs. 2,000 as godown rent. Consignee sells away 
50 units of Rs. 700 each. 30 were destroyed at the 
godown of mani, calculate the value of abnormal 
loss. 

   ö\ßøÚ°À EÒÍ μ÷©è 110 A»SPÒ 
ö£mhP[PøÍ ¹. 600 Ãu® uÚx •PÁμõÚ 
öhÀ¼°¾ÒÍ ©oUS AÝ¨¥k ö\´uõº. Auß 
ö£õ¸mk ¹.3,000zvøÚ \zu® ©ØÖ® 
Põ¨¤miØPõÚ ö\»Ä ö\´uõº. ©o ö£õ¸mPøÍ 
ö£ØÖU öPõsk ¹.6,000zvøÚ APØÖU 
Pmhn©õPÄ®, ¹.2,000zvøÚ Qh[S 
ÁõhøP¯õPÄ® ö\»Ä ö\´uõº. ©o 50 A»SPøÍ 
¹. 700 Ãu® ÂØÓõº. ÷©¾® 30 A»SPÒ 
÷\u•ØÓÚ GÚU öPõsk AÝ¨¥miß ªøP 
|mhzvøÚ PnUQkP. 

Or 

 (b) Write a short notes on Delcredere Commission. 

   ¤øn¯U PÈÄ £ØÔ ]ÖSÔ¨¦ GÊxP. 

14. (a) What are the differences between Joint Venture and 
Sale? 

   Cøn ÂøÚUS®, ÂØ£øÚUS® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Mr. P and Mr. Q were Joint Venture for 
Construction of Medical buildings at an agreed price 
of Rs. 1,20,000. Mr. P. Supplied materials and 
equipment worth Rs. 70,000 and Mr. Q supplied 
materials for Rs. 15,000. At the end of the tenure 
Mr. Q has taken the equipment at an agreed value 
of Rs. 4,000. Prepare the Joint Venture account in 
the books of Mr. Q. 
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   v¸. P ©ØÖ® v¸. Q C¸Á¸® Cøn¢x 
©¸zxÁ©øÚ Pmih® PmkÁuØPõÚ ¹. 1,20,000 
J¨£¢u Âø»°À Cøn ÂøÚ°øÚ 
÷©ØöPõshÚº. v¸. P ‰»¨ö£õ¸Ò ©ØÖ® xønU 
P¸ÂPÐUPõP ö\»Ä ö\´ux ¹. 70,000 ÷©¾®  
Q ‰»® ö£õ¸mPÐUPõP ¹. 15,000 ö\»Ä 
ö\´xÒÍõº. Cøn ÂøÚ°ß •iÂÀ  
v¸. Q «u•ÒÍ E£Pμn[PøÍ ¹. 4,000US GkzxU 
öPõÒQÓõº GÚUöPõsk v¸. Q HkPÎÀ ÷uõßÖ® 
CønÂøÚU PnUQøÚ u¯õ›UP. 

15. (a) What are the disadvantages of Single entry system? 
   JØøÓ¨ £vÄ •øÓ°ß wø©PÒ ¯õøÁ? 

Or 

 (b) From the following information find out the amount 
of total purchase. 

       Rs. 

Creditors (opening)  Nil 

Creditors (closing)   50,000 

Cash paid to suppliers  60,000 

return onwards   2,000 

Cash received from debtors 30,000 

Sales returns   4,000 

Cash purchase   80,000 
  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö©õzu öPõÒ•uø» 

Psk¤i 

       ¹. 

PhÜ¢÷uõº (öuõhUP C¸¨¦) – 

PhÜ¢÷uõº (CÖv C¸¨¦) 50,000 

AÎ¨÷£õ¸US® öμõUP® ö\¾zv¯x 60,000 

öÁÎz v¸¨£®   2,000 

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 30,000 

ÂØ£øÚz v¸¨£®  4,000 

  öμõUP öPõÒ•uÀ   80,000  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mohanraj draws a bill on Muthu at 3 months for  
Rs. 5,00,000 on 1.7.2018 and on acceptance, immediately 
discounts the bill at 8% p.a. and sends half the proceeds 
to Muthu. On the same date, Muthu daws a 3 months bill 
on Mohanraj for Rs. 3,00,000 and remits half of the 
proceeds to Mohanraj after discounting the bill, at 10% 
p.a. Muthu is declared as Insolvent on 31.8.2018 and a 
first and final dividend of 25% is received on 15.10.2018. 
Pass Journal entries in the Books of Mohanraj and 
Muthu. 

1,7.2018 AßÖ ¹. 5,00,000 ÂØS ÷©õPßμõä •¸Pß «x 
3 ©õu ^mk HØ£kzv, AuøÚ HØÓÄhß 8% uÒÐ£i°À 
Ámh® ö\´uõº. AvÀ £õvø¯ •zxÄUS AÝ¨¤Úõº. 
A÷u ÷uv°À •zx ¹. 3,00,000US 3 ©õu ^mk u¯õº 
ö\´x AuøÚ ÷©õPßμõä HØÓ¤ß 10% uÒÐ£i ö\´x 
öuõøP°À £õvø¯ ÷©õPßμõâUS AÝ¨¤Úõº. 
31.8.2018À •zx ö|õi¨¦ {ø» Aøh¢uõº. 15.10.2018À 
•uÀ ©ØÖ® CÖv £[Põu¯©õP 25% Qøhzux. 
÷©õPßμõä ©ØÖ® •zx PnUQß •uØ SÔ¨÷£mk 
£vÄPÒ u¸P. 

17. A fire occurred on the premises of a merchant on 18th 
September 2019 and a Considerable part of the Stock was 
destroyed. The value of the Stock saved was Rs. 9,000. 
The book disclosed that on 1 April 2019 the Stock was 
values at Rs. 66,000, the purchases to the line of the Fire 
amounted to Rs. 2,00,000 and the Sales to Rs. 3,00,000. 
Goods Costing Rs. 1,000 were taken for personal use and 
goods sold for Rs. 3,000 were returned to the merchant. 
On Imagination it is found that during the past five years 
the average gross profit on the cost was 25%. 

You are required to prepare statement showing the 
amount the merchant should claim from the insurance 
Company in respect of stock destroyed by firm. 
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 18.9.2019À w Â£zx HØ£mk ö£õ¸Ò ÷\u©øh¢ux.  
¹. 9,000 ©v¨¦ ö£õ¸Ò «mP¨£mhÚ. 1.4.2019 \μUS 
©v¨¦ 66,000, Â£zx HØ£mh |õÒ Áøμ öPõÒ•uÀ  
¹. 2,00,000 ©ØÖ® ÂØ£øÚ ¹. 3,00,000 ö\õ¢u 
E£÷¯õPzvØS Gkzx ö\À»¨£mh ö£õ¸Ò ¹. 1,000  
©ØÖ® Â¯õ£õ›US v¸¨£¨£mh ö£õ¸Ò ¹. 3,000 Ph¢u 
5 BskPÎÀ \μõ\› ö©õzu »õ£ ÂQu® AhUP Âø»°À 
25%. 

 w°ÚõÀ HØ£mh |mh Dk Põ¨¥k {ÖÁÚzvh® C¸¢x 
ö£Ó ÷Ási¯ öuõøPø¯ PnUQkP. 

18. Babu Consigned 120 Sewing machines each costing  
Rs. 400 to his agent at Madurai. He paid Rs. 500 towards 
freight and Insurance 20 sewing machines were 
destroyed by Fire on the way, Consignee took delivery of 
the remaining and spent Rs. 800 as godown rent  
Rs. 1,200 Import duty and Rs. 400 as carriage outwards. 
Calculate the value of Abnormal Loss. 
£õ¦ 120 øu¯À C¯¢vμ[PøÍ ¹, 400 AhUPzvØS 
©xøμ°À EÒÍ uÚx •PÁ¸US AÝ¨¥k ö\´uõº. AÁº 
¹. 500øÚ yUS T¼ ©ØÖ® Põ¨¥miØPõÚ ö\»Ä 
ö\´uõº. £¯n ÁÈ°À 20 øu¯À C¯¢vμ[PÒ w°ÚõÀ 
÷\u©øh¢uøu uÂμ «u•ÒÍ øu¯À C¯¢vμ[PøÍ 
ö£ØÖU öPõsk ¹. 800 Qh[S ÁõhøP¯õPÄ®, ¹. 1,200 
CÓUS©v Á›¯õPÄ®, ¹. 400 öÁÎ HØÔaö\À 
ö\»ÂØS® ö\»ÂmhuõP öPõsk, ªøP |mhzvøÚ 
PnUQkP. 

19. Briefly explain the differences between Joint Venture and 
Consignment. 
Cøn ÂønUS®, AÝ¨¥mk PnUQØS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ _¸UP©õP ÂÍUSP. 

20. Mr. Mohan keeps his books of accounts under single 
entry system. His Financial position on 31.12.2018 and 
31.12.2019 was as follows. 

 2018 
Rs. 

2019 
Rs. 

Cash 9,700 700

Stock in trade 38,500 57,000

Machinery 54,000 60,000
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 2018 
Rs. 

2019 
Rs. 

Bills receivable – 16,000

Sundry debtors 25,000 43,000

Sundry creditors 72,000 78,000

Furniture 5,000 5,100

Drawings – 4,000

During the year he Introduced additional capital of  
Rs. 25,000 from the above particulars prepare a 
statement of Profit and Loss of Mr. Mohan for the year 
ended 31.12.2019 

v¸. ÷©õPß Gß£Áº uÚx HkPøÍ JØøÓ¨ £vÄ 
•øÓ°À £μõ©›UQÓõº. AÁ›ß 31.12.2018 ©ØÖ® 
31.12.2019® |õÍx C¸¨¦PÒ ¤ßÁ¸©õÖ. 

 2018 
 ¹. 

2019 
¹. 

öμõUP® 9,700 700

Â¯õ£õμ \μUQ¸¨¦ 38,500 57,000

C¯¢vμ® 54,000 60,000

ö£ÖuØS›¯ ©õØÖa ^mk – 16,000

£Ø£» PhÚõÎPÒ 25,000 43,000

£Ø£» PhÜ¢÷uõº 72,000 78,000

AøÓP»ß 5,000 5,100

Gk¨¦ – 4,000

AÆÁõsiÀ ¹. 25,000 TkuÀ •u»õP ö\¾zvÚõº GÚU 
öPõsk 31.12.2019® |õøÍ¯ ÷©õPÛß C»õ£ |mh 
AÔUøP°øÚ u¯õ›UP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023  

Second Semester 

Commerce 

MARKETING  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Marketing? 

 \¢øu°kuÀ GßÓõÀ GßÚ? 

2. What is Market Segmentation? 

 \¢øu £S¨£õ´Ä GßÓõÀ GßÚ? 

3. What is new product? 

 ¦v¯ ö£õ¸mPÒ GßÓõÀ GßÚ? 

4. Write any two name of Consumer Goods.  

 ~PºÄ ö£õ¸mPÎß H÷uÝ® C¸ ö£¯ºPøÍ GÊxP. 

5. What is buying?  

 Áõ[SuÀ GßÓõÀ GßÚ? 

6. What is Selling?  

 ÂØÓÀ GßÓõÀ GßÚ? 
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7. What is Pricing? 

 Âø»°kuÀ GßÓõÀ GßÚ? 

8. What is Pricing Policy?  

 Âø»U öPõÒøP GßÓõÀ GßÚ? 

9. What is Sales Promotion? 

 ÂØ£øÚ FUSÂ¨¦ GßÓõÀ GßÚ? 

10. What is Advertisement?  

 ÂÍ®£μ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the needs of Marketing?  

  \¢øu°ku¼ß ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Write the criteria for Market Segmentation.  

  \¢øu £S¨£õ´ÂøÚ {ºn°US® AÍÄ ÷PõÀPøÍ 
GÊxP. 

12. (a) What are the objectives of Product Policy?  

  ö£õ¸m öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Write the features of Product Policy. 

  u¯õ›¨¦ öPõÒøP°ß A®\[PøÍ GÊxP. 

13. (a) State the importance  of Transportation.  

  ÷£õUSÁμzvß •UQ¯zxÁ[PøÍ ÂÁ›. 

Or 

 (b) Write a short notes on Short Term Financing.  

  SÖQ¯ Põ» {v°À SÔzx ]Ö SÔ¨¦ GÊxP. 



F–0170 

  

  3

14. (a) What are the objectives of Pricing Policy? 

  Âø»U öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) State the factors influencing pricing decisions.  

  Âø»°ku¼À •iöÁkzuø» {ºn°US® 
PõμoPøÍ ÂÁ›. 

15. (a) Put out the limitations of Advertisement. 

  ÂÍ®£μzvß SøÓ£õkPøÍ öÁÎöPõnºP. 

Or 

 (b) What are the duties of Sales man?  

   ÂØ£øÚ¯õÍ›ß Phø©PÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the profile of Indian Marketing. 

 C¢v¯ \¢øu°ku¼ß Áμ»õØÔøÚ ÂÁ›. 

17. Discuss the classification of consumer goods. 

 ~PºÄ ö£õ¸mPÎß ÁøPPøÍ ÂÁõv. 

18. State the facilitating functions of Marketing.   

 \¢øu°ku¼ß £À÷ÁÖ •øÓø©PøÍ £mi¯¼kP. 

19. List out the various  methods of pricing.  

 Âø»°ku¼ß £À÷ÁÖ •øÓø©PøÍ £mi¯¼kP.  

20. Write the significance of sales promotion.  

 ÂØ£øÚ ÷©ßø©°ß CßÔ¯ø©¯õø©ø¯ GÊxP. 

____________ 
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Commerce 

PRINCIPLES OF INSURANCE  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give the definition of Insurance.  

 Põ¨¥miß ÁøμÂ»UP® u¸P.  

2. What do you mean by risk? 

 B£zx Gß£uß ö£õ¸Ò GßÚ? 

3. What do you mean by Annuities? 

 Á¸hõ¢vμ® GßÖ Gøu ö\õÀQÕºPÒ? 

4. What is premium? 

 Põ¨¥mk öuõøP GßÓõÀ GßÚ? 

5. What is proposal? 

 •ßö©õÈÄ GßÓõÀ GßÚ? 

6. Who is agent? 

 •PÁº ¯õº? 

Sub. Code 
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7. What is paid up value? 

 ö\¾zu¨£mh ©v¨¦ GßÓõÀ GßÚ? 

8. Write short note on proof of death. 

 ]Ó¨¦UPõÚ BuõμzvÀ ]Ö SÔ¨¦ GÊuÄ®. 

9. Give the definition of marine insurance.  

 PhÀ Põ¨¥miÀ Áøμ¯øÓø¯ öPõk[PÒ.  

10. What do you mean by reinsurance? 

 ©ÖPõ¨¥k GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the features of insurance of insurance.  

  Põ¨¥miß ußø©PøÍ TÖP.  

Or 

 (b) Give the kinds of insurance from risk point of view.  

  B£zxU Ps÷nõmhzvÀ Põ¨¥mk ÁøPPøÍ 
ÁÇ[PÄ®.  

12. (a) List out the annuities according to commencement 
of income.  

  Á¸©õÚzvß öuõhUPzvØS HØ£ Á¸hõ¢vμ[PøÍ 
£mi¯¼k[PÒ.  

Or 

 (b) What are the assumptions underlying the 
calculation of premium? 

  Põ¨¥mk öuõøP PnURmiß Ai¨£øh°»õÚ 
AÝ©õÚ[PÒ GßÚ? 
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13. (a) List out about medical examinations.  

  ©¸zxÁ £›÷\õuøÚ £ØÔ GkzxøμUP.  

Or 

 (b) Briefly explain the proposal from agents.  

  •PÁºPÎhª¸¢x •ßö©õÈøÁ _¸UP©õP 
ÂÍUPÄ®.  

14. (a) What are the steps to be follower while claiming? 

  ÷PõμÀ ö\´¯¨£k®÷£õx, ¤ß£ØÓ¨£h ÷Ási¯ 
{ø»PÒ ¯õøÁ? 

Or 

 (b) Draft a note on nomination.  

  £›¢xøμ £ØÔ J¸ SÔ¨¦ ÁøμP.  

15. (a) State its essential features of marine insurance.  

  PhÀ Põ¨¥miß •UQ¯ A®\[PøÍU SÔ¨¤hÄ®.  

Or 

 (b) How should a claim under a fire policy be made? 

  w Põ¨¥miß RÌ G¨£i J¸ E›ø© ö\´¯ 
÷Ásk®? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the organisations of insurance business in India.  

 C¢v¯õÂÀ Põ¨¥mk ÁoP Aø©¨¦ £ØÔ ÂÁõvUP.  

17. Bring out the classification of annualeties  

 Á¸hõ¢vμ[PÎß ÁøP¨£õkPøÍ öÁÎöPõnºP.  
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18. ‘The Policies are freely assignable in case of life policy’ - 
Discuss. 

 ‘‘öPõÒøPPÒ AÀ»x ÁõÌUøPU öPõÒøP°ß Âå¯zvÀ 

C»Á\©õPU QøhUS®’’ & ÂÁõvUP.  

19. Explain the role of LIC in national economy.  

 ÷u]¯ ö£õ¸ÍõuõμzvÀ LIC °ß £[øP ÂÍUSP.  

20. Enumerate the kinds of fire insurance policy.  

 w Põ¨¥mkU öPõÒøP°ß ÁøPPøÍU PnUQkP.  

———————— 
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Commerce 

BANKING THEORY  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Banking. 
 Á[Q°¯À Áøμ¯Ö. 

2. Write the meaning of Unit Banking. 
A»S Á[Q°¯À Gß£uß ö£õ¸øÍ GÊxP. 

3. What do you mean by Lending? 
Phß öPõkzuÀ Gß£uß ö£õ¸Ò ¯õx? 

4. Define Credit Card. 
Phß Amøhø¯ Áøμ¯Ö. 

5. What is meant by ‘Credit Creation’? 

‘Phß E¸ÁõUP®’ Gß£uß ö£õ¸Ò GßÚ? 

6. Define liquidity. 
}º© ußø© Áøμ¯Ö. 

7. Define Small Scale Industry. 
]Ô¯ AÍÂ»õÚ öuõÈÀxøÓø¯ Áøμ¯Ö. 
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8. What is Qualitative Credit Control? 

uμ©õÚ Phß Pmk¨£õk GßÓõÀ GßÚ? 

9. What do you mean by Banking Ombudsman Scheme? 

Á[Q SøÓwºUS® vmh® Gß£uß ö£õ¸Ò ¯õx? 

10. What is E – Banking? 

C&Á[Q°¯À GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Narrate the various types of Banks. 

   £À÷ÁÖ ÁøP¯õÚ Á[QPøÍ ÂÁ›. 

Or 

 (b) How does Branch banking differ from the Unit 
Banking? 

   A»S Á[Q°¼¸¢x QøÍ Á[Q GÆÁõÖ 
÷ÁÖ£kQÓx? 

12. (a) List out the types of Commercial Banks. 

   ÁoP Á[QPÎß ÁøPPøÍ £mi¯¼kP. 

Or 

 (b) What are the issues of Credit cards?  

   Phß AmøhPÎß ]UPÀPÒ ¯õøÁ? 

13. (a) State the limitations of Credit Creation? 

   Phß E¸ÁõUPzvß Áμ®¦PøÍU SÔ¨¤kP. 

Or 

 (b) Discuss the Structure of Money Market. 

   £na \¢øu°ß Pmhø©¨ø£¨ £ØÔ ÂÁõvUP. 
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14. (a) Explain the objectives of Credit Control. 

   Phß Pmk¨£õmiß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Explain the functions of Reserve Bank of India? 

   C¢v¯ ›\ºÆ Á[Q°ß ö\¯À£õkPøÍ ÂÍUSP. 

15. (a) Briefly explain recent developments in Banking. 

   Á[QzxøÓ°ß \«£zv¯ ÁÍºa]PøÍ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) State the different types of E-Banking. 

   £À÷ÁÖ ÁøP¯õÚ C&Á[Q°øÚ £ØÔ SÔ¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any  three questions. 

16. Explain the various Functions of Banking. 

Á[QPÎß £À÷ÁÖ £oPøÍ ÂÍUSP. 

17. Explain the social responsibility of the bank. 

Á[Q°ß \‰P ö£õÖ¨¦PøÍ ÂÍUSP. 

18. Discuss the role of money market. 

£na \¢øu°ß £[øP¨ £ØÔ ÂÁõvUP. 

19. Explain the powers under the Banking Regulation  
Act 1949. 

Á[Q JÊ[S•øÓa \mh® 1949ß RÌ EÒÍ 
AvPõμ[PøÍ ÂÍUSP. 

20. Explain the advantages and disadvantage of E-Banking.  

C&Á[Q°ß |ßø©PÒ ©ØÖ® wø©PÒ ÂÍUSP. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023 
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Commerce 

BUSINESS STATISTICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Statistics. 
 ¦ÒÎ°¯À Áøμ¯Ö. 

2. Write a short note on primary data. 
 •ußø© uμÄPÎÀ J¸ ]Ö SÔ¨ø£ GÊxP. 

3. List out the methods of measuring dispersion. 
 ]uÓø» AÍÂk® •øÓPøÍ £mi¯¼kP. 

4. Write any two merits of arithmetic mean. 
 GsPou \μõ\›°ß H÷uÝ® Cμsk uSvPøÍ GÊxP. 

5. State the meaning of correlation. 
 öuõhº¦ Gß£uß ö£õ¸øÍU SÔ¨¤kP. 

6. What are the uses of regression analysis? 
 ¤ßÚøhÄ £S¨£õ´Âß £¯ß£õkPÒ GßÚ? 

7. Write a short note on index number. 
 SÔ±mk GsoÀ J¸ ]Ö SÔ¨ø£ GÊxP. 
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8. Write Laspeyre’s formula. 
 »õì¤¯›ß `zvμzøu GÊxP. 

9. What is a time series? 
 ÷|μz öuõhº GßÓõÀ GßÚ? 

10. State the merits of moving average. 
 |P¸® \μõ\›°ß uSvPøÍU SÔ¨¤kP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the limitations of Statistics. 
   ¦ÒÎ°¯¼ß Áμ®¦PøÍU SÔ¨¤kP. 

Or 

 (b) List out sources of secondary data. 
   Cμshõ® {ø» uμÄPÎß ‰»zøu £mi¯¼kP. 

12. (a) Calculate the arithmetic mean from the following 
data : 

Marks : 40 50 54 60 68 80

No. of Students : 10 18 20 39 15 8

   ¤ßÁ¸® uμÄPÎ¼¸¢x GsPou \μõ\›ø¯U 
PnUQkP. 

©v¨ö£sPÒ 40 50 54 60 68 80

©õnÁºPÎß GsoUøP : 10 18 20 39 15 8

Or 

 (b) Calculate the mean deviation from median from the 
following data : 

  X : 100  150  200  250  490  500  600 671 
   ¤ßÁ¸® uμÄPÎ¼¸¢x, \μõ\›°¼¸¢x \μõ\› 

Â»Pø»U PnUQkP. 

  X : 100  150  200  250  490  500  600 671 
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13. (a) Compute rank correlation from the following 
information : 

Marks in Accountancy : 8 5 7 6 4 2 3 1

Marks in Statistics : 7 5 8 6 3 1 2 4

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x uμÁ›ø\z öuõhºø£U 
PnUQkP. 

PnUQ¯¼À ©v¨ö£sPÒ 8 5 7 6 4 2 3 1

¦ÒÎÂ£μzvÀ ©v¨ö£sPÒ 7 5 8 6 3 1 2 4

Or 

 (b) Compute the Karl Pearson’s Co-efficient of 
correlation between X and Y. 

X : 57 58 59 59 60 61 62 64

Y : 67 68 65 68 72 72 69 71

   PõºÀ ¤¯º\Ûß X ©ØÖ® Y Cøh÷¯ EÒÍ 
öuõhº¦PÎß Cønz vÓøÚU PnUQkP. 

X : 57 58 59 59 60 61 62 64

Y : 67 68 65 68 72 72 69 71

14. (a) Calculate the Laspeyre’s Index Number : 

 Base Year Current Year 

 Kilo Rate (Rs.) Kilo Rate (Rs.)

Bread 10 3 8 3.25 

Meat 20 15 15 20 

Tea 2 25 3 23 
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 »õì¤¯ºì Cß SÔ±mk GsønU PnUQkP. 

 Ai¨£øh Bsk |h¨¦ Bsk 

 Q÷»õ Âø» (¹.) Q÷»õ Âø» (¹.)

öμõmi 10 3 8 3.25 

CøÓa] 20 15 15 20 

÷u}º 2 25 3 23 

Or 

 (b) Construct Cost of living index : 
Commodity : A B C D E 

Price : 125.71 150 173.91 65.62 178.9

Weight : 35 10 20 15 20 

   ÁõÌUøPa ö\»ÄU SÔ±møhU Pmhø©UP. 

ö£õ¸Ò A B C D E 

Âø» 125.71 150 173.91 65.62 178.9

Gøh 35 10 20 15 20 

15. (a) Fit a straight line trend to following time series : 
Year : 2015 2016 2017 2018 2019 2020

Sales : 72 75 74 78 83 82 

   ¤ßÁ¸® ÷|μz öuõh¸US ÷|º÷Põmk¨ ÷£õUøP¨ 
ö£õ¸zxP. 

Bsk 2015 2016 2017 2018 2019 2020

ÂØ£øÚ 72 75 74 78 83 82 

Or 

 (b) List out the values using three year moving average 
method. 

   Á¸h |P¸® \μõ\› •øÓø¯¨ £¯ß£kzv ©v¨ø£ 
£mi¯¼kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the types of classification of data : 

 uμÄ ÁøP¨£õk ÁøPPøÍ ÂÍUSP. 

17. Calculate the Standard Deviation from the following 
data: 

Expenses (Rs.) 0–10 10–20 20–30 30–40 40–50

No. of workers : 2 5 9 3 1 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x vmh Â»UPzvøÚ PnUQkP. 

ö\»ÄPÒ (¹.) 0–10 10–20 20–30 30–40 40–50

öuõÈ»õÍºPÎß 
GsoUøP 

2 5 9 3 1 

18. Compute the coefficient of correlation : 

X : 36 23 27 28 28 29 30 31 33 35

Y : 29 18 20 22 27 21 29 27 29 28

 JmkÓÄU öPÊøÁU PõsP. 

X : 36 23 27 28 28 29 30 31 33 35

Y : 29 18 20 22 27 21 29 27 29 28

19. Calculate Fisher’s index number from the following data: 

Product Base Year Current Year 

 Kilo Rate (Rs.) Kilo Rate (Rs.)

A 8 10 20 30 

B 12 15 10 10 

C 6 8 16 20 

D 4 6 8 10 
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 ¤ßÁ¸® uμÄPÎ¼¸¢x L¤å›ß SÔ±mk GsønU 
PnUQkP. 

ö£õ¸Ò Ai¨£øh Bsk |h¨¦ Bsk 

 Q÷»õ Âø» (¹.) Q÷»õ Âø» (¹.)

A 8 10 20 30 

B 12 15 10 10 

C 6 8 16 20 

D 4 6 8 10 

20. Calculate the trend values by the method of least squares 
from the data given below : 

Year : 2001 2002 2003 2004 2005

Sales (Rs. in lakhs) 70 74 80 86 90 

 R÷Ç öPõkUP¨£mkÒÍ uμÂ¼¸¢x SøÓ¢u£m\ 
\xμ[PÎß •øÓ°ß ‰»® ÷£õUS ©v¨¦PøÍU 
PnUQkP. 

Bsk 2001 2002 2003 2004 2005

ÂØ£øÚ  
(¹. »m\[PÎÀ) 

70 74 80 86 90 

 

 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023. 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define partnership. 

 Tmhõsø© Áøμ¯Ö. 

2. What is meant by partnership deed? 

 Tmhõsø© J¨£õÁn® GßÓõÀ GßÚ? 

3. What is Revaluation Account? 

 ©Ö©v¨¥mk PnUS GßÓõÀ GßÚ? 

4. What is meant by ‘gaining ratio’? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

5. State any two rights of a Retiring partner. 

 Â»S® TmhõÎ°ß E›ø©PÒ Cμsøh TÖP. 

6. What is Realisation account? 

 wºÄU PnUSPÒ GßÓõÀ GßÚ? 

7. What is Insolvency of partner? 

 TmhõÎ°ß ö|õi¨¦ {ø» GßÓõÀ GßÚ? 

8. What is dissolution of partnership firm? 

 Tmk£[S {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 
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9. What is meant by piecemel distribution? 

 ]ØÓÍÄ Â{÷¯õP® GßÓõÀ GßÚ? 

10. What is purchase consideration? 
 öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A,B and C are partners sharing profits and losses in 
the ratio of 2:3:5.  A retires and D is admitted in his 
place.  The new profit sharing ratio between B,C 
and D is 2:3:1.  From the following prepare capital 
accounts of partners. 

Capital –   A – Rs.10,000 

  B – Rs. 15,000 

  C – Rs. 20,000 

Profit on revaluation Rs. 10,000, General reserve 
Rs. 40,000: Goodwill is raised at Rs.30,000 and 
written off at D’s admission. 

   A,B, ©ØÖ® C GßÓ TmhõÎPÒ 2:3:5 GßÓ 
ÂQuzvÀ C»õ£ |mh[PøÍ¨ £QºQßÓÚº.  A K´Ä 
ö£ÖÁuõÀ AÁμx ChzvÀ D AÝ©vUP¨£kQÓõº.  
B,C ©ØÖ® D°ß ¦v¯ C»õ£ ÂQu® 2:3:1.  
RÌUPõq® ÂÁμ[PÎ¼¸¢x TmhõÎPÎß •uÀ 
PnUøP u¯õ›UPÄ®. 

•uÀ –   A – ¹.10,000 

 B – ¹. 15,000 

    C – ¹. 20,000 

   ©Ö©v¨¥miß «uõÚ C»õ£® ¹.10,000 £õxPõ¨¦ 
¹.40,000 |Øö£¯º ¹.30,000 BP ÷uõØÖÂUP¨£mk 
D–°ß ÷\º¨¤ØS ¤ÓS }UP¨£mhx. 

Or 

 (b) Explain the rights of partner. 
   TmhõÎ°ß E›ø©PøÍ ÂÁ›. 
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12. (a) Balu and Somu share profits and losses in the ratio 
of 7:3.  The admit Ram as a repartner.  Balu 
surrendered 1/7 of his share and Somu surrendered 
1/3 of his share to Ram.  Find out New ratio and 
sacrificing ratio. 

   £õ¾Ä® ÷\õ•Ä® 7:3 GßÓ ÂQuzvÀ »õ£zøu 
£Qº¢x öPõÒQßÓÚº.  μõ• ¦v¯ TmhõÎ¯õP 
÷\ºUQßÓÚº.  £õ¾ uß £[Q¼¸¢x 1/7 £õP•® 
÷\õ• uß £[Q¼¸¢x 1/3 £õP•® μõ•ÄUS 
AÎUQßÓÚº.  ¦v¯ ÂQuzøu²®, v¯õP 
ÂQuzøu²® Psk¤i. 

Or 

 (b) Explain the different methods of calculating 
goodwill.  

   |Øö£¯øμ PnUQkÁuØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÁ›. 

13. (a) X,Y and Z are partners shares profit and losses in 
the ratio of 4:3:1 respectively.  Y retires and selling 
his share of profit to ‘X' and Z for Rs.16,200, 
Rs.7,200 being paid by X and Rs.9,000 being paid by 
‘Z’.  The profit of the firm after ‘Y’ retirement is 
Rs.21,000.  Distribute the above profit between X 
and Z. 

   J¸ {Ö©zvÀ X,Y ©ØÖ® Z GßÓ TmhõÎPÒ C»õ£ 
|mh[PøÍ 4:3:1 GßÓ ÂQuzvÀ ¤›zxU 
öPõÒQßÓÚº.  Y GßÓ TmhõÎ Â»P •iöÁkzx, 
AÁ›ß C»õ£ £[øP ¹.16,200 US X ©ØÖ® ZUS 
ÂØÓõº.  ‘X’ ¹.7,200 ® ©ØÖ® Z ¹.9,000 •® 
öPõkzuÚº.  Y ß Â»P¾US¤ß {ÖÁÚzvß 
C»õ£® ¹.21,000 ® BS®.  ÷©ØTÔ¯ C»õ£zøu X 
©ØÖ® ZUS £Qº¢uÎUPÄ®. 

Or 

 (b) State and deductions that may have to be made 
from the amount payable to the legal representative 
of a deceased partner. 

   CÓ¢u TmhõÎ \mh ¤μv{vUS ö\¾zu ÷Ási¯ 
öuõøPUPõÚ Â»UPÎ¨¦PøÍ TÖP. 
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14. (a) A, B and C were equal partners on 31.12.2020 their 
position was as follows.   

Liabilities Rs. Assets Rs. 

A’s 
capital 

1800 Cash 1500

B’s 
capital 

1200 C’s capital 600 

  Loss an 
relation 

900 

 3000  3000

  C is insolvent and can pay nothing.  Close the book 
of the firm. 

   A,B ©ØÖ® C BQ÷¯õº \©©õÚ TmhõÎPÒ 
31.12.2020&ß £i ÂÁμ[PÒ ¤ßÁ¸©õÖ.   
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

A’ß •uÀ 1800 öμõUP® 1500

B’ß •uÀ 1200 C’ß •uÀ 600 

  EnºuÀ 
«uõÚ 
|mh® 

900 

 3000  3000

   ‘C’ ö|õi¨¦ {ø» Aøh¢uõº.  AÁ›ß £[PõP 
GxÄ® öPõkUP¨£hÂÀø».  {ÖÁÚ HkPÎÀ 
PnUSPøÍ •iUPÄ®. 

Or 

 (b) What are the different modes of dissolution of a 
partners firm?  Explain it. 

   J¸ Tmhõsø© {ÖÁÚzøu Pø»¨¦ ö\´ÁvÀ 
EÒÍ £À÷ÁÖ •øÓPÒ ¯õøÁ?  AÁØøÓ ÂÍUSP. 
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15. (a) G,M,W were equal partners.  The following was the 
position after dissolution but before settlement of 
accounts.  The Balance sheet are as follows:   

Liabilities Rs. Assets Rs. 

G’s 
capital  

2500 W’s capital 263 

M’s 
capital 

314 Realization 
loss 

636 

  Cash 
balance 

1,915

 2,814  2,814

  W prove to be bankrupt and could not contribute 
anything towards his capital deficiency.  Show the 
accounts to record the above dissolution. 

   G, M ©ØÖ® W Gß£ÁºPÒ \©£[S £[SuõμºPÒ 
Pø»¨¦ {PÌÄ ö£ØÓ ¤ß PnUS ÷|º ö\´²® 
•ß¦ C¸¨¦ {ø» SÔ¨¦ uμ¨£mkÒÍx. 

C¸¨¦{ø» SÔ¨¦ 
ö£õÖ¨¦ ¹. ö\õzx ¹. 

G’ß •uÀ  2500 W’ß •uÀ 263 

M’ß 
•uÀ 

314 wºøÁ 
|mh® 

636 

  öμõUP 
C¸¨¦ 

1,915

 2,814  2,814

  W Gß£Áº ö|õi¨¦ {ø» Aøh¢uõº.  AÁμõÀ 
{ÖÁÚzvØS GxÄ® uμ C¯»ÂÀø». {ÖÁÚ 
Pø»¨¤ØS ÷uøÁ¯õÚ PnUSPøÍ u¸P. 

Or 

 (b) Write short notes on (i) maximum loss method  
(ii) proportionate capital method. 

   ]Ö SÔ¨¦ ÁøμP (i) AvP£m\ CÇ¨¦ •øÓ  
(ii) ÂQuõ\õμ ‰»uÚ •øÓ 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. R and S are partners sharing profits in the ratio of 2:1 
and as from 1st January 2018, they admit T who is to 
have 1/10th share of profit with a guaranteed minimum of 
Rs.32,000 R, and S continue to share profits as before.  
The profit of the firm in respect of the year, is 
Rs.2,00,000.  Prepare profit and loss appropriation 
account. 

R ©ØÖ® S TmhõÎPÒ •øÓ÷¯ 2:1 GßÓ ÂQuzvÀ 
C»õ£zøu £QºQßÓÚº. áÚÁ› 1,2018 AÁºPÒ T 
Gß£Áøμ 1/10 GßÓ C»õ£ ÂQuzxhß SøÓ¢uÍÄ 
EzvμÁõu C»õ£©õP ¹.32,000 GÚ öPõsk 
Tmhõsø©°À ÷\º¢xöPõÒQßÓÚº.  R ©ØÖ® S 
÷©ØTÔ¯ C»õ£ ÂQuzvÀ öuõhºQßÓÚº.  {Pμ C»õ£® 
¹.2,00,000.  C»õ£ |mh £Qº¢uÎ¨¦ PnUøP u¯õº 
ö\´¯Ä®. 

17. ‘R’ and ‘S’ are partners sharing profit in proportion to 
capital their balance sheet as on 31.3.2018 is as under.  

Liabilities Rs. Assets Rs.

Sundry 
creditors 

1,00,000 Bank 90,000

Bills 
payable  

80,000 Debtors 1,50,000

Capital:  Stock 80,000

R 2,50,000  Building 2,00,000

S 1,60,000 4,10,000 furniture 70,000

 5,90,000  5,90,000
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 They decided to admit ‘T’ into partnership with effect 
from 1st April 2018 on the following terms. 

 (a) ‘T’ shall bring in a capital of Rs.1,00,000 for 1/4th 
share of profits. 

 (b) Goodwill is to be valued at Rs.80,000 

 (c) Building and furniture was to be depreciated by 5% 

 (d) Provision for doubtful debts credited at 1 ½ % on 
sundry debtors. 

 Calculate the revaluation a/c, capital a/c and balance 
sheet. 

 R ©ØÖ® S TmhõÎPÒ •øÓ÷¯ •uÀ ÂQuzvÀ C»õ£® 
£Qº¢x Á¸QßÓÚº.  AÁºPÎß 31.3.2018&® |õøÍ¯ 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

£Ø£» 
PhÜ¢÷uõº 

1,00,000 Á[Q 90,000

ö\¾zuØS›¯ 
©õØÖ^mk 

80,000 PhÚõÎPÒ 1,50,000

•uÀ:  \μUQ¸¨¦ 80,000

R 2,50,000  Pmih® 2,00,000

S 1,60,000 4,10,000 AøÓP»ß 70,000

 5,90,000  5,90,000

 AÁºPÒ ¤ßÁ¸® CÚ[PøÍU P¸zvÀ öPõsk ‘T’ 
Gß£Áøμ 2018 H¨μÀ 1 AßÖ Tmhõsø©°À 
÷\ºzxöPõÒÍ •iÄ GkzuÚº. 

 (A) ‘T’ ß 1/4 £[SUS ¹. 1,00,000 •uÀ öPõsk 
Á¸Áx. 

 (B) |Øö£¯º ¹.80,000 GÚ ©v¨¤kÁx 
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 (C) Pmih® ©ØÖ® AøÓP»ß «x 5% ÷u´©õÚ® 
}USÁx. 

 (D) £Ø£» PhÚõÎPÒ «x 1 ½ % ÁõμõUPhß JxUS 
E¸ÁõUSP. 

 ©Ö©v¨¥mk PnUS, •uÀ PnUSPÒ ©ØÖ® C¸¨¦ 
{ø»U SÔ¨¦ u¯õº ö\´P. 

18. Sunil, Devan and Ravi are equal partner in a firm and 
their balance sheet as on 31-12-2020 is given below  

Liabilities Rs. Assets Rs. 

Creditors 40,500 Machinery 43,500

Reserve 4,500 Furniture 1,500 

Capital:  Debtors 30,000

Sunil 15,000 Stock 15,000

Deva 12,000   

Ravi 18,000   

 90,000  90,000

 Retiretired on 31.12.2020 and assets were revalued as 
under. 

 Machinery 5,000, furniture – Rs.1,200 Debtors Rs.28,500, 
Stock – Rs.14,700.  Goodwill of the firm is valued at 
Rs.9,000 and Ravi’s share of goodwill is to be adjusted to 
continuing partners capital account.  Give journal entry 
for adjustment of goodwill and prepare necessary leader 
accounts and new balance sheet. 



F–0174 

  

  9

 _ÛÀ, ÷uÁß ©ØÖ® μÂ ‰Á¸® \©£[S TmhõÎPÒ 

31.12.2020&® |õøÍ¯ C¸¨¦ {ø»U SÔ¨¤ß ÂÁμ® 

R÷Ç öPõkUP¨£mkÒÍx.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 40,500 C¯¢vμ® 43,500

Põ¨¦ 4,500 AøÓP»ß 1,500 

•uÀ:  PhÚõÎPÒ 30,000

_ÛÀ 15,000 \μUQ¸¨¦ 15,000

÷uÁß 12,000   

μÂ 18,000   

 90,000  90,000

 31.12.2020 AßÖ μÂ K´Ä ö£ÖQÓõº.  ö\õzxUPÒ 

¤ßÁ¸©õÖ ©v¨¤h¨£mhx.  C¯¢vμ® ¹.5,000, 

AøÓP»ß ¹.1,200, PhÚõÎPÒ ¹.28,500.  \μUQ¸¨¦ 

¹.14,700.  |Øö£¯º ¹.9,000 GÚ {ÖÁÚzvÀ 

©v¨¤h¨£mhx μÂ°ß |Øö£¯º ©ØÓ TmhõÎPÎß 

•uÀ PnUQØS \› ö\´¯¨£mhx.  SÔ¨÷£kPÒ u¢x, 

÷£÷μkPÒ ©ØÖ® ¦v¯ C¸¨¦ {ø»U SÔ¨¦ u¯õ›UP. 
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19. A,B and C are the partners.  They share profit in the 
ratio of 4:3:1.  The decided to dissolve the firm and on the 
date of the dissolution their Balance sheet stood as 
follows:  

Liabilities Rs. Assets Rs. 

A’s 
capital 

10,000 Cash 1,000 

B’s 
capital  

7,500 Debtors 7,500 

C’s 
capital 

6,500 Stock 6,500 

Creditors 6,000 Plant  6,000 

  Land 
and 

Building

9,000 

 30,000  30,000 

 Assets realised value: 
 Debtors Rs.7,000, Stock Rs. 6,000, Plant Rs.5,500, Land 

and Building Rs.14,500.  Close the books of the firm. 
 A, B ©ØÖ® C ‰Á¸® TmhõÎPÒ.  C»õ£[PÒ 4:3:1 

GßÓ ÂQuõ\õμ Ai¨£øh°À £Qº¢x öPõshÚº.  {ÖÁ 
Pø»¨¦ ö\´¯ •iöÁkzuÚº.  {Ö© Pø»¨¦ ö\´²® 
÷uv°À AÁºPÍx C¸¨¦ {ø» SÔ¨¦ RÌPshÁõÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

A’ß •uÀ 10,000 öμõUP® 1,000 

B’ß •uÀ  7,500 PhÚõÎPÒ 7,500 

C’ß •uÀ 6,500 \μUQ¸¨¦ 6,500 

PhÜ¢÷uõº 6,000 ö£õÔ 6,000 

  {»® 
©ØÖ® 
Pmih® 

9,000 

 30,000  30,000
 ö\õzxUPÎß ©v¨¥kPÒ. 
 PhÚõÎPÒ ¹.7,000, \μUQ¸¨¦ ¹.6,000 ö£õÔ ¹.5,500 

{»® ©ØÓ® Pmih® ¹.14,500.  {Ö© PnUøP •iUP. 
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20. What are the methods to calculate purchase 
consideration ?  Explain.  
öPõÒ•uÀ ©Ö£¯ß PnUQk® •øÓPÒ ¯õøÁ ?  
ÂÍUSP. 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Define Management. 

 ÷©»õsø© – C»UPn® u¸P. 

2. What is organization? 

 Aø©¨¦ GßÓõÀ GßÚ? 

3. What is planning? 

 vmhªkuÀ GßÓõÀ GßÚ? 

4. Write down the steps involved decision making. 

 •iöÁk¨£vÀ EÒÍ £iPøÍ GÊxP. 

5. What is meant by departmentalization? 

 xøÓPÍø©zuÀ GßÓõÀ GßÚ? 

6. Write the importance of staffing. 

 £o¯õÍº {¯©Úzvß •UQ¯zxÁzøu GÊxP.  
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7. What is communication? 

 uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

8. Define “Motivation”. 

 FUSÂzuÀ Áøμ¯Ö. 

9. Define control. 

 Pmk¨£õmøh Áøμ¯ÖUP. 

10. What is concurrent control? 

 J÷μ ÷|μzvÀ Pmk¨£õk GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the principles of management. 

  ÷©»õsø©°ß ÷Põm£õkPøÍ ÂÁõvUP. 

Or 

 (b) Explain the principle of F.W. Taylor theory. 

  F.W. öh´»º ÷Põm£õmiß ÷Põm£õkPøÍ ÂÍUSP. 

12. (a) Explain the guidelines for effective planning. 

  |À» vmhªku¼ß ÁÈ |hzxuÀPøÍ ÂÁ›. 

Or 

 (b) State the objectives of planning. 

  vmhªh¼ß ÷|õUP[PøÍ SÔ¨¤kP. 

13. (a) Explain the various types of organization. 

  Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 
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 (b) What are the factors determining span of 
management? 

  ÷©»õsø©ø¯ wº©õÛUPU Ti¯ PõμoPÒ ¯õøÁ?  

14. (a) What are the various of elements of communication? 

  uPÁÀ öuõhº¦PÎß £À÷ÁÖ TÖPÒ ¯õøÁ? 

Or 

 (b) What are the types of motivation? 

  FUSÂzu¼ß ÁøPPÒ ¯õøÁ? 

15.  (a) State the different kinds of control techniques. 

  Pmk£kzu¼ß ~m£[PÎ¼¾ÒÍ £À÷ÁÖ 
•øÓø©PøÍ TÖP. 

Or 

 (b) What are the importance of controlling? 

  Pmk¨£kzxÁuß •UQ¯zxÁ[PÒ ¯õøÁ? 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the general principles of management given by 
Henry Fayol. 

 öíßÔ ÷£õ¯¼ß TØÖ¨£i ÷©»õsø©°ß ö£õx 
uzxÁ[PøÍ ÂÁõvUP.  

17. Explain the various steps involved in the process of 
planning. 

 vmhªkuÀ ö\¯À£õmi¾ÒÍ £À÷ÁÖ £i{ø»PÒ £ØÔ 
ÂÍUSP. 

18. Discuss the principles of effective communication. 

 |À» uPÁÀ öuõhº¤ß öPõÒøPPøÍ ÂÁ›. 
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19. Explain Maslow’s motivation theory. 

 ©õì÷»õÂß FUSÂ¨¦ ÷Põm£õmøh ÂÁ›. 

20. Explain steps in controlling process. 

 Pmk¨£kzx® ö\¯À£õmiß £iPøÍ ÂÁ›. 

———— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Definition of Banker. 

 Á[Q¯º Áøμ¯Ö. 

2. What is Claytons case? 

 Q÷Ímhß uõÁõ GßÓõÀ GßÚ? 

3. What is Current account? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

4. What do you mean by recurring deposit? 

 «ÒøÁ¨¦ £ØÔ }Âº AÔÁx ¯õx? 

5. What is Special crossing? 

 ]Ó¨¦ RÓ¼hÀ GßÓõÀ GßÚ? 

6. What is a Material alteration? 

 Ai¨£øh¯õÚ ©õØÓ® GßÓõÀ GßÚ? 
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7. What is Payment in due course? 

 •øÓ¨£i ö\¾zxuÀ GßÓõÀ GßÚ? 

8. What is Payment by mistake? 

 uÁÖu»õÚ ö\¾zuÀ GßÓõÀ GßÚ? 

9. What is Credit card? 

 Phß Amøh GßÓõÀ GßÚ? 

10. What is Letter of credit? 

 Phß \õßÖ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the rights of bank customer? 

  Á[Q ÁõiUøP¯õÍ›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) Explain the General utility services rendered by a 
banker. 

  ÁoP Á[Q¯›ß ö£õx £¯ß£õmk ÷\øÁPøÍ 
ÂÍUSP. 

12. (a) Distinguish between Savings bank account and 
Current account. 

  ÷\ª¨¦ PnUS ©ØÖ® |h¨¦ PnUS 
CÆÂμsøh²® ÷ÁÖ£kzxP. 

Or 

 (b) What are the privileges enjoyed by minors? 

  CÍÁÀ AÝ£ÂUS® ]Ó¨¦a \¾øPPÒ ¯õøÁ? 
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13. (a) Explain the precautions taken by a banker before 
honouring a cheque. 

  Põ÷\õø» ©v¨¤ØS •ßÚuõP Á[Q¯º GkUP 
÷Ási¯ •ßöÚa\›UøP |hÁiUøPPøÍ TÖP. 

Or 

 (b) What are the advantages of cheque? 

  Põ÷\õø»°ß |ßø©PÒ ¯õøÁ? 

14. (a) Explain the statutory protections to the paying 
banker. 

  ÁÇ[S® Á[Q¯¸USa \mh® AÎUS® £õxPõ¨¦ 
£ØÔ ÂÁ›. 

Or 

 (b) What are the types of dishonour of cheque? 

  Põ÷\õø» AÁ©v¨¦ ÁøPPÒ ¯õøÁ? 

15.  (a) Explain the duties of a collecting banker. 

  Á`¼US® Á[Q¯›ß Phø©PøÍ ÂÁ›. 

Or 

 (b) What are the features of a credit card? 

  Phß Amøh°ß ußø©PÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the special relationship between Banker and 
Customer. 

 Á[Q¯¸US® ÁõiUøP¯õÍ¸USªøh÷¯ EÒÍ ]Ó¨¦ 
EÓÄPøÍ £ØÔ ÂÁ›. 
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17. Explain the precautions to be taken by the banker 
opening an account. 

 PnUS öuõh[S® •ß Á[Q¯º GkUP ÷Ási¯ 
•ßöÚa\›UøP |hÁiUøPPÒ ÂÁ›. 

18. Explain the various types of cheque. 

 Põ÷\õø»°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

19. Explain the various types of endorsement. 

 ÷©ö»Êv u¸u¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. Discuss the types of Letter of credit. 

 ÁoP EÖvU Piuzvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define normal rate. 

 C¯À¦ Ãuzøu Áøμ¯Ö. 

2. If a book is sold for Rs.650, at a profit of 30% then find 
the cost price. 

 J¸ ¦zuP©õÚx ¹.650 US ÂØP¨£kÁuß ‰»® 30% 
C»õ£® QøhUSö©ÛÀ ÂØ£øÚ Âø» GßÚ? 

3. What is the relation between logarithm and exponential? 

 ©hUøPUS® AkUS \õº¤ØS•ÒÍ öuõhº¦ ¯õx? 

4. Find the value of ( ) 8/145.789 . 

 ( ) 8/145.789 &ß ©v¨ø£U PõsP. 

5. Define roster method. 

 £mi¯À •øÓø¯ Áøμ¯Ö. 
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6. If the set A is the set of all even numbers in N then find 
AC. 

 A Gß£x C¯Àö»sPÎß Cμmøh GsPÎß Pn® GÛÀ 
AC&I PõsP. 

7. Define sample space. 

 TÖöÁÎ Áøμ¯Ö. 

8. A fair coins tossed twice. What is the probability that 
getting one hand and one tail? 

 J¸ ÷|ºzv¯õÚ |õn¯©õÚx C¸•øÓ _sh¨£k®÷£õx 
J¸ uø» ©ØÖ® J¸ § QøhUP {PÌuPÄ GßÚ? 

9. What is the condition the Binomial distribution to be 
symmetrial? 

 D¸Ö¨¦ £μÁ»õÚx \©^μõP C¸UP {£¢uøÚ GßÚ? 

10. If the mean of a Poisson distribution’s 4, find S.D. and 
variance. 

 £õ´éß £μÁ¼ß \μõ\› 4, GÛÀ vmhÂ»UPzøu²® 
©õÖ£õmøh²® PõsP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) If the difference between true discount and banker’s 
discount on a sum due in 4 months at 3% p.a. is  
Rs.10 find the amount of the bills. 

  3% Bsk Ámi ÃuzvÀ 4 ©õuzvØPõÚ Esø© 
uÒÐ£iUS® Á[Q¯º uÒÐ£iUS•ÒÍ Âzv¯õ\® 
¹.10 GÛÀ ©õØÖ^miß öuõøPø¯U PõsP. 

Or 
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 (b) To buy a computer Raju borrowed Rs.25,000, at 8% 
interest per year compounded half-yearly. He will 
pay off the debit by equal payments each half yearly 
over 10 years. Find the half yearly payment? 

   μõä J¸ PoÛ Áõ[P 8% BskÁmiÃuzvÀ 
¹.25,000 ø¯ Aøμ BsiÀ J¸[Qøn¢u PhÚõP 
ö£ØÓõº. CzöuõøPø¯ Aøμ¯õskUS J¸ •øÓ 
BskPÎÀ \© AÍÁõP ¤›zx ö\¾zxÁõμõ°ß 
AÁº Aøμ¯õsiÀ ö\¾zuU Ti¯ öuõøP 
GÆÁÍÄ?  

12. (a) Show that 1
1log

1
1log

1
1log

1 =
+

+
+

+
+ abcabc cba

. 

  1
1log

1
1log

1
1log

1 =
+

+
+

+
+ abcabc cba

 GÚ PõsP. 

Or 

 (b) Solve using logarithm 25097.5 =x . 

  25097.5 =x  ©hUøPø¯ £¯ß£kzv wº. 

13. (a) If { }7,6,5,3,2,1=A  { }8,7,6,3,2=B  and the U is the 
set of all natural numbers then calculate the 
following. 

  (i) UA∪  

  (ii) UB∩  and 

  (iii) BA / . 

  { }7,6,5,3,2,1=A , { }8,7,6,3,2=B  ©ØÖ® U ß Pn® 
C¯À¦ GsPÒ GÛÀ, ¤ßÁ¸£ÁÚÁØøÓ 
PnUQkP. 

  (i) UA∪  

  (ii) UB∩  ©ØÖ® 

  (iii) BA / . 

Or 
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 (b) State and prove associative law, using Venn 
diagram.  

  ÷\º¨¦ Âvø¯ TÔ öÁsÁøμ£hzvøÚ 
£¯ß£kzv {¹¤. 

14. (a) State and prove addition theorem on probability. 

  {PÌuPÂØPõÚ TmhÀ ÷uØÓzvøÚUTÔ {ÖÄP. 

Or 

 (b) Give a short note on mathematical expectation. 

  Pou Gv£õºzuø»¨ £ØÔ SÔ¨¦ ÁøμP. 

15. (a) Write a formula for normal distribution and discuss 
it. 

  C¯À¦ £μÁ¼ß `zvμzøu GÊv, ÂÁõv. 

Or 

 (b) A book contains 100 mis prints distributed 
randomly throught its 100 pages. What is the 
probability that a page observed at random contains 
atleast two misprints. Assume by normal 
distribution. 

  J¸ ¦zuPzvÀ 100 £UP[PÎÀ ^μØÓ •øÓ°À 
÷uõμõ¯©õP 100 Aa_¨¤øÇPÒ ÂμÂ²ÒÍÚ. ^μØÓ 
•øÓ°À PÁÛUP¨£mh J¸ £UPzvÀ SøÓ¢u£m\® 
Cμsk Aa_¨¤øÇPÒ C¸¨£uØPõÚ {PÌuPÂøÚ 
D¸Ö¨¦ £μÁø» öPõsk {¹¤. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A borrower signs a deed promising to pay a bank Rs.5,000 
in ten months from now. 

 (a) How much will the borrower receive if the discount 
rate is 8.4%? 

 (b) How much would the borrower have to repay in 
order to receive Rs.5,000. How? 

 J¸ PhÚõÎ £zx ©õu[PÎÀ ¹.5,000. ö\¾zxÁuõP 
Á[Q°À EÖv¯ÎUQÓõº GÛÀ 

 (A) 8.4% uÒÐ£i Ãu® GÛÀ PhÚõÎ £¯Úøh²® 
öuõøP GÆÁÍÄ? 

 (B) PhÚõÎ uØ÷£õx ¹.5,000. ö£ØÓõÀ GÆÁÍÄ 
öuõøP v¸®£ ö\¾zu ÷ÁsiÁ¸®? 

17. If azayax aaa 3log,2log,log 432 === , show that 
yzxyz 21=+ . 

 azayax aaa 3log,2log,log 432 ===  GÛÀ yzxyz 21=+   
GÚU Põs¤. 

18. State and prove distributive laws with suitable example. 

 £[Rmk Âvø¯ TÖ Euõμnzxhß {¹¤. 

19. If two dies are thrown simultaneously than find the 
followings. 

 (a) What is the probability of getting a total of 7? 

 (b) Obtain the probability of getting a total is minimum 
7. 

 (c) Obtain the probability of getting both are even 
numbers . 
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 C¸ £PøhPÒ J¸ ÷\μ E¸mh¨£k® ÷£õx 
RÌPshÁØøÓU PõsP 

 (A) ö©õzu GsoUøP 7 Qøhzu {PÌuÄ GßÚ? 

 (B) SøÓ¢u £m\® GsoUøP 7 QøhUP {PÌuPøÁ¨ 
ö£ÖP. 

 (C) C¸ £Pøh°¾® Cμmøh C»UP Gs 
Qøh¨£uØPõÚ {PÌuPÄ GßÚ? 

20. Derive the formula for binomial distribution. 

 D¸Ö¨¦ £μÁ¼ß `zvμzøu {¹¤. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is notional profit? 
¦»ÚõPõ C»õ£® GßÓõÀ GßÚ? 

2. What is Retention money? 
øÁzv¸zuÀ £n® GßÓõÀ GßÚ? 

3. What is minimum rent? 
SøÓ¢uÍÄ ÁõhøP GßÓõÀ GßÚ? 

4. Explain the meaning of shortworkings.  
{øÓÄö£Óõu ÷Áø» ö£õ¸øÍ ÂÁ›. 

5. What is Repossession? 
©ÖÁ\® GßÓõÀ GßÚ? 

6. State the meaning Repossessed stock. 
©ÖÁ\ \μUS ö£õ¸Ò TÖP. 

7. What is deficiency Account? 
£ØÓõUSøÓ PnUS GßÓõÀ GßÚ? 

Sub. Code 
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8. What is meant by Partly secured creditors? 

£õv £õxPõ¨¦øh¯ PhÜ¢÷uõº £ØÔ ö£õ¸Ò GßÚ? 

9. What do you understand by Inter-departmental 
transfers? 

CøhxøÓÁõ› Ch©õØÓ® £ØÔ } AÔÁÚ GßÚ? 

10. What is independent branch? 

uÛ¨£mh QøÍ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Narrate the types of contract accounts. 

   J¨£¢u PnUQß ÁøPPøÍ ÂÁ›UPÄ®. 

Or 

 (b) The following was the expenditure on a contract for 
Rs.12,00,000 commenced in January 2010.  

    Materials Rs.2,40,000, wages Rs.3,28,000, plant 
Rs.40,000, overheads Rs.17,200. Cash received on 
account of the contract upto 31st December was 
Rs.4,80,000. Being 80% of the work certified. The 
value of materials in hand was Rs.20,000. The plant 
had undergone 20% depreciation. Prepare contract 
account.  

   ¤ßÁ¸ÁÚ J¨£¢uzvß ö\»ÄPÒ ¹.12,00,000 
öuõh[P¨£mhx áÚÁ› 2010.  

     ‰»¨ö£õ¸Ò ¹.2,40,000, T¼ ¹.3,28,000, Bø» 
¹.40,000, ÷©À{ø» ö\»ÄPÒ ¹.17,200. 31 i\®£º 
J¨£¢uzvØS ö£ØÓ öμõUP® ¹.4,80,000. AvÀ 80% 
\õßÓÎUP¨£mh ÷Áø». ‰»¨ö£õ¸Îß Âø» 
øP°À ¹.20,000. Bø»°À 20% ÷u´©õÚ®. J¨£¢u 
PnUS u¯õ›UPÄ®. 
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12. (a) From the following information compute 

shortworkings, shortworkings recouped and 

shortworkings lapsed :  

   Royalty : 50 paise per tonne of coal 

   Minimum Rent : Rs.30,000 p.a. 

   Output : 1st Year : 10,000 tonnes 

   Second year : 48,000 tonnes. 

   Third year : 80,000 tonnes.  

   Shortworkings are recoverable during the first three 

years of lease. 

   ¤ßÁ¸® uPÁ¼ß£i {øÓÄö£Óõu ÷Áø», 
{øÓÄö£Óõu ÷Áø» v¸®£ö£ÖuÀ ©ØÖ® {øÓÄ¨ 
ö£Óõu ÷Áø» •iÄö£ØÓx PnUQkP. 

   Põ¨¦›ø© : 50 ø£\õ J¸ hß {»UP›US.  

   SøÓ¢uÍÄ ÁõhøP : ¹.30,000 p.a. 

   EØ£zv :   •uÀ Á¸h®  : 10,000 hßPÒ 

     CμshõÁx Á¸h® : 48,000 hßPÒ 

        ‰ßÓõÁx Á¸h® : 80,000 hßPÒ 

   {øÓÄö£Óõu ÷Áø»ø¯ •uÀ ‰ßÖ Á¸h 
SzuøP°À «möhkUP¨£k®. 

Or 

 (b) Explain the different methods of recovery of 

shortworkings usually found in royalty agreements.  

   {øÓÄö£Óõu ÷Áø»°À EÒÍ £À÷ÁÖ 
«möhkUS® •øÓPÒ Põ¨¦›ø© J¨£¢uzvÀ 

£¯ß£kzu¨£kÁøu ÂÁ›. 
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13. (a) X purchased machinery under hire purchase 

agreement from Y. The cash price of the machinery 

was Rs.15,500. The payments was to be made as 

follows: 

       Rs. 

   On signing the agreement  3,000 

   First year end   5,000 

   Second year end    5,000 

   Third year end    5,000 

  Calculate interest for each year.   

   ÁõhøP öPõÒ•uÀ •øÓ X Gß£Áº J¸ 

C¯¢vμzøu Y °h® Áõ[QÚõº. C¯¢vμzvß öμõUP 

Âø» ¹.15,500. Pmhn® ¤ßÁ¸©õÖ 

ö\¾zu¨£mhx. 

J¨£¢u øPö¯õ¨£zvß÷£õx 3,000 

•uÀ Á¸h CÖv   5,000 

Cμshõ® Á¸h CÖv   5,000 

‰ßÓõ® Á¸h CÖv   5,000 

     JÆöÁõ¸ Á¸hzvØS® Ámiø¯ PnUQkP. 

Or 

 (b) What is instalment purchase system? What are its 

characteristics? 

   uÁønU öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? Auß 

]Ó¨¤¯À¦PÒ GßöÚßÚ? 
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14. (a) The assets of Palani of Chennai on 31.6.2010 as 

shown by his books were Rs.14,000 and his 

liabilities Rs.11,000. He estimated his deficiency 

Rs.7,500. He found the following were not taken 

into account. 

   (i) Interest at 6% on his capital from 1.1.2010 

   (ii) A contingent liability of Rs.625 on bills 

discounted by his for Rs.2,500. 

   (iii) Amount due as wages Rs.300, Rent Rs.50, 

taxes –Rs.350 – Prepare statement of affairs 

and deficiency account. 

   v¸. £ÇÛ ö\ßøÚ°ß ö\õzxUPÒ, ö£õÖ¨¦PÒ 

31.6.2010ß £i •øÓ÷¯ ¹.14,000, ¹.11,000. AÁº 

PnUQß£i £ØÓõUSøÓ ¹.7,500. ¤ÓS 

RÌPshøÁPøÍ PnUQÀ GkzxUöPõÒÍÂÀø» 

GßÖ AÔ¢uõÀ,  

(i) •uÀ «x Ámi 6% (1.1.2010¼¸¢x) 

(ii)  {a\¯©ØÓ ö£õÖ¨¦ ¹.625, Ámhgö\´u 

Esi¯¼ß «x ¹.2,500. 

(iii) öPõk£h ÷Ási¯øÁ T¼ ¹.300, ÁõhøP 

¹.50, Á› ¹.350. {v{ø» AÔUøP ©ØÖ® 

£ØÓõUSøÓ PnUøP²® u¯õº ö\´P. 

Or 

 (b) Explain the importance of insolvency accounting.  

   ö|õi¨¦ {ø» PnUQ¯¼ß •UQ¯zxÁ® ÂÁ›. 
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15. (a) A company had two departments B and C.   
B department supplies the goods to C department at 
its usual selling price. From the following figures 
prepare departmental trading profit and loss 
account for the year 2018. 

 B C 

 (Rs.) (Rs.) 

Opening stock 1.1.2018 30,000 –

Purchases 2,10,000 –

Transfer to C 50,000 50,000

Sales 2,00,000 60,000

Closting stock (31.12.2018) 40,000 10,000

   J¸ {ÖÁÚzvÀ B, C GßÖ® Cμsk xøÓPÒ 
C¸UQßÓÚ. C xøÓUS ÷Ási¯øu B AuÝøh¯ 
ÂØ£øÚ Âø»°À u¸QÓx. RÌPsh 
ÂÁμ[PÎ¼¸¢x 2018® BskUPõÚ xøÓÁõ› 
Â¯õ£õμ C»õ£ |èh PnUSPøÍ u¯õ›UPÄ®. 

 

 B C 

 (¹.) (¹.) 

Bμ®£ \μUQ¸¨¦ 1.1.2018 30,000 –

öPõÒ•uÀ 2,10,000 –

C US ©õØÓ¨£mh \μUS  50,000 50,000

ÂØ£øÚ  2,00,000 60,000

CÖva \μUS (31.12.2018) 40,000 10,000

Or 

 (b) What is branch accounting? and list out its 
objectives.  

   QøÍU PnUQ¯À GßÓõÀ GßÚ? ©ØÖ® AuÝøh¯ 
÷|õUPzvøÚ £mi¯¼kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the accounting procedure for contract accounting.  

J¨£¢u PnUQß PnUQ¯À ö\¯À•øÓPøÍ ÂÁõv. 

17. ‘A’ leased a colliery. The dead rent Rs.1,200 a year, 
merging into a Royalty of 25 paise per tonne of Coal 
raised with the right of recouping shortworkings out of 
royalties during the first four years. Quantities raised 
were. 

 Tonnes 

I year  2,000 

II year 3,600 

III year  12,000 

IV year  6,000 

V year  25,000 

 Find the landlord account for the five years.  

 A {»UP› _μ[Pzøu SzuøPUS Gkzuõº. AuÛß öhm 
ÁõhøP ¹.1,200 J¸ Á¸hzvØS, Põ¨¥mk E›ø©  
25 ø£\õ J¸ hßÛØS {»UP› E¯º¢x, •uÀ |õßS 
Á¸hzvØS «möhkUP¨£kQÓx. 

 E¯º¢u AÍÄPÒ : 

 hßPÒ

I Á¸h® 2,000

II Á¸h® 3,600

III Á¸h® 12,000

IV Á¸h® 6,000

V Á¸h® 25,000

  {»E›ø©¯õÍ›ß 5 Á¸h PnUQøÚ PõmkP.  



F–0178 

  

  8

18. Aim Traders purchased two machines costing Rs.3,20,000 
each from Bombay Motors on 1st January 2018 on hire 
purchase system. The terms were :  

  Payment of delivery Rs.80,000 for each machine and 
balance in three equal instalment together with interest 
at 10% p.a to be paid at the end of each year.  

 Aim Traders write off 25% depreciation each on the 
diminishing balance method.  

 Aim Traders paid the instalment due on 31st Dec 2015 
and 31st Dec 2019 but could not pay the final instalment.  

 Bombay Motors repossessed one machine adjusting its 
value to the amount due. The repossession was done on 
the basis of 30% depreciation on diminishing balance 
method. 

 Write up the ledger account in the books of Aim Traders 
showing the above transactions.  

áÚÁ› 1, 2018&® Á¸h® H® i÷μhºì JÆöÁõßÖ® 
¹.3,20,000 ©v¨¤»õÚ Cμsk C¯¢vμ[PøÍ £õ®÷£ 
÷©õmhõºì {ÖÁÚzvh® uÁøn öPõÒ•uÀ •øÓ°À 
Áõ[Q²ÒÍx.  

{£¢uøÚPÒ : 

JÆöÁõ¸ C¯¢vμzvØS® ¹.80,000 EhÚi¯õP £n® 
ö\¾zv «u•ÒÍ ‰ßÖ uÁøn¯õP 10% Ámi²hß 
ö\¾zxÁuõP J¨¦U öPõÒÍ¨£mhx. 

H® i÷μhºì 25% SøÓ¢u ö\À ©v¨¤À ÷u´©õÚ® 
JxURk ö\´QßÓx. 

H® i÷μhºì 31 i\®£º, 2018 ©ØÓ® 31 i\®£º 2019S›¯ 
uÁøn ©mk® ö\¾zv EÒÍx. Pøh] uÁøn 
ö\¾zuÂÀø». 

£õ®÷£ ÷©õmhõºì {¾øÁ öuõøPUPõP J¸ C¯¢vμzøu 
v¸®£ øP¯P¨£kzv²ÒÍx. ©ÖøP¯P¨£kzuÀ 30% 
SøÓ¢u ö\À ©v¨¤À PnUQh¨£mkÒÍx. 

H® i÷μhºì Hmiß PnUSPøÍ ÷©ØPsh |hÁiUøP 
‰»® u¯õº ö\´P. 
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19. Explain the preparation of statement of affairs.  

{v{ø» AÔUøP u¯›zuÀ £ØÔ ÂÁ›. 

20. From the following information prepare departmental 
trading and profit and loss account in a columnar from 
three departments of Royal Dry Cleaners Ltd. 

 Dry  
cleaning 

Darning Dyeing 

 Rs. Rs. Rs. 

Stock on 1st Jan 2018 4,00,000 3,40,000 9,40,000

Stock on 31st Dec 2018 3,30,000 4,38,000 8,17,000

Purchases  19,59,000 6,97,000 13,73,000

Sales  40,00,000 20,00,000 40,00,000

Wages  7,28,000 3,00,000 2,46,000

 Goods were transferred from one department to another 
at cost price as follows: 

 (a) Darning to dry cleaning Rs.2,400 and to dyeing 
Rs.40,200. 

 (b) Dyeing to dry cleaning Rs.25,800 and to darning 
Rs.18,000. 

  (c) Dry cleaning to darning Rs.3,000 and to dying 
Rs.24,000.  

 Apportion equally.  

 Stationery Rs.5,418, Postage Rs.4,050, General expenses 
Rs.2,37,618. Insurance Rs.10,080, Depreciation 
Rs.32,598. 

 Rent and taxes Rs.1,80,000 is to be split in proportion to 
space occupied i.e. dry cleaning – 4, Darning – 2,  
Dyeing – 2 and other space – 2. 
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RÌPõq® Â£μ[PÎ¼¸¢x μõ¯À iøμ QÏÚºì ¼ªöhm 
{ÖÁÚzvß ‰ßÖ Âu©õP ¤›UP¨£mh xøÓÁõ› 
Â¯õ£õμ C»õ£ |mh PnUQøÚ u¯õ›UPÄ®. 

 iøμ 
QÎÛ[ 

hõºÛ[ øh°[ 

 ¹. ¹. ¹. 

1.1.2018À \μUQ¸¨¦ 4,00,000 3,40,000 9,40,000

31.12.2018À 
\μUQ¸¨¦ 

3,30,000 4,38,000 8,17,000

öPõÒ•uÀPÒ 19,59,000 6,97,000 13,73,000

ÂØ£øÚPÒ 40,00,000 20,00,000 40,00,000

T¼PÒ 7,28,000 3,00,000 2,46,000

 J¸ xøÓ°¼¸¢x ©ØöÓõ¸ xøÓUS AhUP Âø»°À 
\μUSPøÍ ©õØÖu¼ß Â£μ® ¤ßÁ¸©õÖ. 

  (A) hõºÛ[ xøÓ°¼¸¢x iøμ QÏÛ[ ©ØÖ® øh°[ 
xøÓUS ©õØÓ¨£mhx •øÓ÷¯ ¹.2,400 ©ØÖ® 
¹.40,200. 

 (B) øh°[ xøÓ°¼¸¢x, iøμQÏÛ[ ©ØÖ® hõºÛ[ 
xøÓUS ©õØÓ¨£mhx •øÓ÷¯ ¹.25,800 ©ØÖ® 
¹.18,000 BS®. 

  (C) iøμ QÏÛ[ xøÓ°¼¸¢x hõºÛ[ ©ØÖ® øh°[ 
xøÓUS ©õØÓ¨£mhx •øÓ÷¯ ¹.3,000 ©ØÖ® 
¹.24,000 BS®.  

  \›\©©õP £Q›¢uÎUPÄ®. 

  GÊxö£õ¸mPÒ ¹.5,418, u£õÀ ö\»Ä ¹.4,050, ö£õx 
ö\»Ä ¹.2,37,618, Põ¨¥mk •øÚ©® ¹.10,080, 
÷u´©õÚ®  ¹.32,598. 

  ÁõhøP ©ØÖ® Á›PÒ ¹.1,80,000zøu xøÓUPÐøh¯ 
Ch Aø©¨¤ß Ai¨£øh°À £Qº¢uÎUP¨£k®. iøμ 
QÏß & 4, hõºÛ[ & 2, øh°[ & 2 ©ØÖ® Cuμ & 2. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define share forfeiture.  

 £[S JÖ¨¤Í¨¦ Áøμ¯ÖUP.  

2. What is redemption of debenture? 

 «ÒuS Phß¨£zvμ[PÒ GßÓõÀ GßÚ? 

3. What is sales ratio? 

 ÂØ£øÚ ÂQu® GßÓõÀ GßÚ? 

4. Write the meaning of profits post incorporation.  

 Tmk¸ÁõUPzvØS ¤¢øu¯ C»õ£® Gß£uß ö£õ¸Ò 
GÊxP.  

5. What do you know about reserves and surplus? 

 Põ¨¦ ©ØÖ® E£› £ØÔ }Âº AÔÁx GßÚ? 

6. Give the meaning of investments.  

 •u½kPÒ Gß£uß ö£õ¸Ò öPõkUP.  

Sub. Code 
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7. What is Absorption? 

 {ÖÁÚ Dº¨¦ GßÓõÀ GßÚ? 

8. What do you understand by external reconstruction? 

{ÖÁÚ ¦Óa ^μø©¨¦ £ØÔ }Âº ¦›¢xöPõÒÁx GßÚ? 

9. Write any two methods of valuation of goodwill.  

 |Øö£¯º ©v¨¤k® •øÓPÒ H÷uÝ® Cμsk GÊxP.  

10. Who is secured creditor? 

 ¤øn¯U PhÜ¢÷uõº Gß£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Ram Ltd. invited applications for 10,000 shares of 
Rs. 100 each, payable as on application - Rs. 30 on 
allotment Rs. 50, on first and final call Rs. 20, the 
entire issued shares amount was received in full. 
Pass journal entries in the books of the company.   

  μõ® ¼ªöhm 10,000 £[SPøÍ ¹. 100 Ãu® 
öÁÎ°mhx. ¹. 30 Âsn¨£vß ÷£õx, ¹. 50 
£[S JxURmiØPõPÄ®, ¹. 20 •uÀ ©ØÖ® CÖv 
AøÇ¨¤ØPõPÄ® ö£Ó¨£mhx. öÁÎ°mh AøÚzx 
£[SPÐUS® £n® ö£Ó¨£mhuõP öPõsk, 
A¢{ÖÁÚzvß SÔ¨÷£mk £vÄPøÍ u¸P.  

Or 

 (b) Explain the types of preference shares.  

  •ßÝ›ø©¨ £[SPÎß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 
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12. (a) State the expenses which are charged to pre 
incorporation period.  

  Tmk¸ÁõUPzvØS •¢øu¯ Põ»zvÀ ©mk® £vÄ 
ö\´¯UTi¯ ö\»ÂÚ[PøÍ¨ £ØÔ ÂÍUSP. 

Or 

 (b) Rajkamal industries Ltd. provides the following 
information. You are required to calculate the profit 
prior to and after incorporation.  

  Time ratio 3:5, sales ratio 2:3, gross profit  
Rs. 5,00,000, the expenses are  

 Rs. 

Salaries 80,000

Rent 15,000

Advertisement 50,000

Preliminary expenses 1,00,000

Director fear 18,000

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x μõäP©À 
öuõÈØ\õø»°ß ¼ªöhmiß Tmk¸ÁõUPzvß 
•¢øu¯ ©ØÖ® ¤¢øu¯ C»õ£zøu PnUQkP.  

  Põ» ÂQu® 3:5, ÂØ£øÚ ÂQu® 2:3 ö©õzu 
C»õ£® : ¹. 5,00,000. ö\»ÂÚ[PÒ   

 ¹. 

\®£Í® 80,000

ÁõhøP 15,000

ÂÍ®£μ® 50,000

•ußø©a ö\»Ä 1,00,000

C¯US|º Pmhn®  18,000
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13. (a) The following information prepare profits loss A/c 
for the year ended 31.12.2020 of white ltd.  

 Rs. 

Interest received 5,000

Salaries 2,000

General expenses 3,000

Wages 1,000

Carriage inwards 5,000

Carriage outwards 10,000

Gross profit 50,000

Discount received  2,000

Rent paid 7,000

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x öÁÒøÍ ¼ªöhmiß 
31.12.2020® BsiØS›¯ C»õ£ |mhU PnUS 
u¯õ›UP.  

 ¹. 

Ámi ö£ØÓx 5,000

\®£Í® 2,000

ö£õxa ö\»ÄPÒ 3,000

T¼ 1,000

EÒHØÔaö\À ö\»ÄPÒ 5,000

öÁÎHØÔaö\À ö\»ÄPÒ 10,000

ö©õzu C»õ£® 50,000

Ámh® ö£ØÓx 2,000

ÁõhøP ö\¾zv¯x 7,000

Or 
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 (b) From the following information, prepare a balance 
sheet of Mr. Sun Ltd. as on 31, Dec. 2021. 

 Rs. 

Share capital 4,92,500

Reserves and surplus 55,000

Long term Borrowing 4,00,000

Short term provisions 40,750

Trade payable 87,350

Short term advances  1,31,000

Closing stock  1,95,000

Tangible assets  6,16,950

In tangible assets  50,000

Trade receivable  82,650

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x v¸. \ß 
Áøμ¯ÖUP¨£mh {ÖÁÚzvß 31.12.2021® 
BsiØS›¯ C¸¨¦{ø» SÔ¨¤øÚ u¯õ›UP.  

 ¹. 

£[S ‰»uÚ® 4,92,500

Põ¨¦ ©ØÖ® E£› 55,000

}sh Põ»U Phß 4,00,000

SÖQ¯ Põ» JxUS 40,750

Â¯õ£õμ ö\¾zxuÀPÒ  87,350

SÖQ¯ Põ» ö£ÖuÀPÒ 1,31,000

CÖva \μUQ¸¨¦ 1,95,000

¦»ÚõS® ö\õzxUPÒ 6,16,950

¦»ÚõPõu ö\õzxUPÒ 50,000

Â¯õ£õμ ö£ÖuÀPÒ 82,650
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14. (a) Calculate purchase consideration, ‘A’ purchasing 
company has issued one share of Rs. 10 each at  
Rs. 8 paid up for every three shares in the vendor 
company. There are 50,000 shares in the vendor 
company. The share of the purchasing company are 
quoted for Rs. 17 in the market.  

  öPõÒ•uÀ ©Ö£¯ß PnUQkP. J¸ öPõÒ•uÀ 
{Ö©® J¸ £[S ¹. 10 Ãu® EÒÍ £[øP ¹. 8 
Ãu® £[SPÒ •ÊÁx® AøhUP¨£mhøÁ. 
Â{÷¯õPìuº {Ö©® øÁzxÒÍx. ÂØ£øÚ¯õÍº 
{ÖÁÚzvÀ 50,000 £[SPÒ EÒÍÚ. \¢øu°À J¸ 
£[Qß Âø» ¹. 17 GÚ {ºn¯® ö\´¯¨£mkÒÍx.  

Or 

 (b) From the following in the balance sheet of moon ltd 
as on 31st March 2019.  

Liabilities Rs. Assets Rs. 

Share capital 10,00,000 Fixed assets 11,00,000

General reserve 3,00,000 Investments 2,00,000

Current liabilities 2,00,000 Current assets 2,00,000

 15,00,000  15,00,000

  Sun Ltd. agreed to take over the business of Moon 
Ltd. calculate purchase consideration under net 
assets method by valuing all assets and liabilities at 
book value.  

  •ß Áøμ¯ÖUP¨£mh {ÖÁÚzvß 31 ©õºa 2019® 
|õøÍ¯ C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£[S ‰»uÚ® 10,00,000 {ø»a ö\õzxUPÒ 11,00,000
ö£õxU Põ¨¦ 3,00,000 •u½kPÒ 2,00,000
|h¨¦ ö£õÖ¨¦PÒ 2,00,000 |h¨¦ ö\õzx 2,00,000

 15,00,000  15,00,000

  \ß Áøμ¯ÖUP¨£mh {ÖÁÚ©õÚx ‰ß 
Áøμ¯ÖUP¨£mh {ÖÁÚzøu GkzxU öPõshx. 
AuØPõÚ öPõÒ•uÀ ©Ö£¯øÚ {Pμ ö\õzx ©v¨¦ 
•øÓ°À AøÚzx ö£õÖ¨¦PÒ ©ØÖ® ö\õzxUPøÍ 
¦zuP ©v¨¤À PnUQkP.  
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15. (a)  Calculate Goodwill under super profit method of 
ABC Ltd. earn a profit of as 80,000 by employing a 
capital of Rs. 2,30,000. The normal rate of ratio of a 
firm is 10% three year purchase.  

  ªøP C»õ£ •øÓ°À ‘ABC’ Áøμ¯ÖUP¨£mh 
{ÖÁÚzvß |Øö£¯º PnUQkP. \õuõμn C»õ£® 
¹. 80,000, ‰»uÚ® £¯ß£kzv¯ ¹. 2,30,000 
\õuõμn Dmi¯ Á¸Áõ¯ 10% ‰ßÖ Bsk 
öPõÒ•uÀ GÚU öPõsk PnUQhÄ®.  

Or 

 (b) Explain the reasons for winding up of a company. 

  J¸ {ÖÁÚzvß Pø»¨¤ØPõÚ Põμn[PøÍ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. John Ltd. issued 2000 shares of Rs. 10 each out a 
premium of 10% payable as follows.  

 On application Rs. 2, on allotment Rs. 4 (including 
premium) on first call Rs. 3 on final call Rs. 2. 1700 
shares were applied for and allotted. All the money was 
received, except the first and final calls on 300 shares 
held by Ragavan. These shares were forfeited. Pass 
journal entries and prepare the balance sheet.  

 áõß Áøμ¯ÖUP¨£mh {ÖÁÚ® 2000, ¹. 10 ©v¨¦ÒÍ 
£[SPøÍ 10% •øÚ©zvÀ öÁÎ°mhx. AøÁ ¹. 2 
Âsn¨£zvß ÷£õx, ¹. 4 (•øÚ©® Em£h) £[S 
JxURmiß ÷£õx®, •uÀ AøÇ¨¤ß ÷£õx ¹. 3 ©ØÖ® 
CÖv AøÇ¨¤ß ÷£õx ¹. 2 BP ö\¾zu¨£h 
÷Ási¯uõS®. 1700 £[SPÐUPõÚ Âsn¨£[PÒ 
©mk® ö£Ó¨£mk JxURk ö\´¯¨£mhx. μõPÁß 300 
£[SPÐUPõÚ •uÀ ©ØÖ® CÖv AøÇ¨¦ £n® ÷£õP 
«u•ÒÍ AøÚzx £n[PÐ® ö£Ó¨£mhÚ. A¢u 
£[SPÒ JÖ¨¤Í¨¦ ö\´¯¨£mhx GÚUöPõsk 
SÔ¨÷£mk £vÄPÒ ©ØÖ® C¸¨¦{ø»U SÔ¨¤øÚ²® 
u¯õ›UP.  
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17. From the following particulars ascertain profit prior and 
after incorporation.  

 (a) Time ratio 2 : 3 
 (b) Sales ratio 4 : 6 
 (c) Gross profit Rs. 20,00,000 
 (d) Expenses debited to profit and loss a/c were : 

 Rs. 
Salaries 1,92,000
General expenses 24,000
Discount on sales 80,000
Advertisement 1,00,000
Preliminary expenses 70,000
Rent and rates 30,000
Printing and stationary 1,30,000

 Income credited to profit and loss a/c were : 
 Rent received Rs. 36,000 
 Interest received Rs. 1,00,000 
 RÌUPõq® ÂÁμ[PÎ¼¸¢x Tmk¸ÁõUPzvØS •ß 

©ØÖ® ¤ß Á¸® »õ£ |mh[PøÍ PnUQkP.  
 (A) Põ» ÂQu® 2:3 
 (B) ÂØ£øÚ ÂQu® 4:6 
 (C) ö©õzu C»õ£® ¹. 20,000,000 
 (D) »õ£ |mhU PnUQÀ £ØÖ ö\´¯¨£mh ö\»ÂÚ[PÒ 

R÷Ç öPõkUP¨£mkÒÍx.  
 ¹. 

\®£Í® 1,92,000
ö£õxa ö\»ÄPÒ 24,000
ÂØ£øÚ «x Ámh®  80,000
ÂÍ®£μ® 1,00,000
•ußø©a ö\»ÄPÒ 70,000
ÁõhøP ©ØÖ® Á›PÒ 30,000
Aa_ ©ØÖ® GÊxö£õ¸Ò 1,30,000

 »õ£|mhU PnUQÀ ÁμÄ ö\´¯¨£mh CÚ[PÒ 
¤ßÁ¸©õÖ.  

 ÁõhøP ö£ØÓx ¹. 36,000 
 Ámi ö£ØÓx ¹. 1,00,000 
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18. Write notes on the following : 
 (a) Interim dividend and 
 (b) Reserves and surplus 
 ¤ßÁ¸ÁÚÁØÔØS ]Ö SÔ¨¦ GÊxP.  
 (A) CøhUPõ» £[Põuõ¯® ©ØÖ®  
 (B) Põ¨¦ ©ØÖ® E£›  

19. Following is the balance sheet of N Ltd. as on  
31st Dec. 2021.  
Liabilities Rs. Assets Rs. 

Share capital 1,25,000 Land and Buildings 1,50,000

Reserve 50,000 Furniture 1,00,000

Bank loan 1,00,000 Stock 50,000

Creditors 75,000 Debtors 25,000

 Profit and loss a/c 25,000

 3,50,000  3,50,000

 N ltd was absorbed by O Ltd on a purchase consideration 
of Rs. 3,00,000 payable Rs. 2,00,000 on cash and 20,000 
shares of Rs. 10 each. liquidation expenses have  
Rs. 10,000. Give journal entries in the books of N Ltd.  

 L Áøμ¯ÖUP¨£mh {Ö©zvß 2021 i\®£º 31® |õøÍ¯ 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® 1,25,000 {»® ©ØÖ® Pmih® 1,50,000
Põ¨¦ 50,000 AøÓP»ß 1,00,000
Á[QU Phß 1,00,000 \μUQ¸¨¦ 50,000
PhÜ¢÷uõº 75,000 PhÚõÎPÒ 25,000

  C»õ£|mhU PnUS 25,000

 3,50,000  3,50,000

 N Áøμ¯ÖUP¨£mh {Ö©® O Áøμ¯ÖUP¨£mh {Ö©zuõÀ 
DUP¨£mk, AuØS öPõÒ•uÀ ©Ö£¯ÚõP ¹. 3,00,000 
zvøÚ ¹. 2,00,000 öμõUP©õPÄ®, «u•ÒÍøu ¹. 10 
©v¨¦øh¯ 20,000 £[SPøÍ u¸ÁuõPÄ® J¨¦U 
öPõÒÍ¨£mhx. ÷©¾® Pø»¨¦ ö\»ÄPÒ ¹. 10,000. 
GÚU öPõsk N {ÖÁÚzvß SÔ¨÷£mk £vÄPøÍ u¸P.  
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20. A liquidator is entitled to receive remuneration @ 2% of 
the assets realised and 3% on the amount distributed 
among the unsecured creditors. The assets realised  
Rs. 45,00,000 against which payment was made as 
follows.  

 Rs. 

Liquidation expenses  40,000

Preferential creditors  75,000

Secured creditors  20,00,000

Unsecured creditors 20,00,000

 Calculate the total remuneration payable to the 
liquidator.  

 J¸ Pø»¨£õÍº ö\õzxUPøÍ ÂØÖ QøhUS® £nzvÀ 
2% •®, •ÊÁx® ¤øn¯©ØÓ PhÜ¢÷uõ¸US öPõkUP 
÷Ási¯ £nzvÀ 3% •® ©v¨§v¯©õP ö£Ó E›ø©¨ 
ö£ØÖÒÍº. ö\õzxUPÒ ÂØÖ Qøhzu ¹. 45,00,000 
¹£õ°¼¸¢x RÌUPõs£ÁØøÓ ö\¾zvÚõº.  

 ¹. 

Pø»¨¦a ö\»Ä 40,000

•ßÝ›ø© PhÜ¢÷uõº 75,000

¤øn¯U PhÜ¢÷uõº 20,00,000

¤øn¯©ØÓ PhÜ¢÷uõº 20,00,000

 Pø»¨£õÍ¸US QøhUP ÷Ási¯ ö©õzu ©v¨§v¯zøu 
PnUQkP.  

  
———————— 



  

F– 0180   

 

B.Com. DEGREE EXAMINATION, NOVEMBER 2023  

Fifth Semester 

Commerce 

COSTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Cost Sheet? 

 AhUP Âø»z uõÒ GßÓõÀ GßÚ? 

2. What do you mean by  Cost Centre? 

 AhUP Âø» ø©¯® £ØÔ }Âº AÔÁx ¯õx? 

3. Give the expansion of the term “FIFO”. 

 “FIFO” – Â›ÁõUP® u¸P. 

4. What do you mean by  EOQ? 

 “EOQ” £ØÔ }Âº AÔÁx ¯õx? 

5. What is meant by idle time? 

 ö\¯»ØÓ ÷|μ® GßÓõÀ GßÚ? 

6. What is Labour turnover? 

 öuõÈ»õÍº _ÇØ] GßÓõÀ GßÚ? 

Sub. Code 
7BCO5C2 
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7. Write a note on over absorption of overheads.  

 AvP¨£i¯õÚ ÷©Øö\»Ä «m¦ £ØÔ SÔ¨¦ GÊxP. 

8. What is allocation of overheads?  

 JxURmk ÷©Øö\»Ä GßÓõÀ GßÚ? 

9. What is Job Costing? 

 £o AhUPÂ¯À GßÓõÀ GßÚ? 

10. What is abnormal gains?  

 AÍÄUS AvP©õP Á¸Áõ´ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the objectives of cost accounting.  

  AhUPÂø» PnUQ¯¼ß ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Calculate : Prime cost, factory cost, cost of 
production, cost of sales and profit. 

 Rs. 

Direct Material 10,000

Direct Labour 4,000

Direct Expenses 500

Factory expenses 1,500

Administrative expenses 1,000

Selling expenses 300

Sales 20,000
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x •ußø© AhUP®, 
öuõÈØ\õø» AhUP®, EØ£zv AhUP®, ÂØ£øÚ 
AhUP® ©ØÖ® C»õ£® BQ¯ÁØøÓ PnUQkP. 

 ¹. 

÷|μi ‰»¨ö£õ¸mPÒ 10,000

÷|μi T¼ 4,000

÷|μi ö\»ÄPÒ 500

öuõÈØ\õø» ö\»ÄPÒ 1,500

{ºÁõP ö\»ÄPÒ 1,000

ÂØ£øÚ ö\»ÄPÒ 300

ÂØ£øÚ 20,000

12. (a) From the following particulars, prepare the stores 
ledger under LIFO method : 

  Dec. 1  Stock in hand  – 500 units at Rs. 20  

  Dec. 2  Issued   – 200 units  

  Dec. 3  Purchased   – 150 units at Rs. 22 

  Dec. 5  Issued   – 100 units  

  Dec. 7  Purchased  – 200 units at Rs. 25 

  RÌPõq® ÂÁμ[PøÍU öPõsk, CÖv°À Á¢x 
•u¼À öÁÎ÷¯ØÓÀ •øÓ°À LIFO \μUS¨ 
÷£÷μmkU PnUS u¯õ›UP. 

  i\®£º 1  øP°¸¨¦ \μUS  – 500 A»SPÒ ¹. 20 Ãu® 

  i\®£º 2  ÁÇ[Q¯x  – 200 A»SPÒ  

  i\®£º 3  öPõÒ•uÀ ö\´ux  – 150 A»SPÒ ¹. 22 Ãu® 

  i\®£º 5  ÁÇ[Q¯x   – 100 A»SPÒ 

  i\®£º 7  öPõÒ•uÀ ö\´ux  –  200 A»SPÒ ¹. 25 Ãu® 

Or 
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 (b) Calculate EOQ from the following information : 

  (i) Annual consumption of Material 10,000 units 

  (ii) Ordering Cost Rs. 100 per order 

  (iii) Price per unit Rs. 5  

  (iv) Carrying cost per annum 20%. 

  RÌPsh ÂÁμ[PÎ¼¸¢x Po\©õÚ öPõÒ•uÀ 
AÍøÁ (EOQ) Psk¤i. 

  (i) ‰»¨ö£õ¸mPÒ Bskz ÷uøÁ 10,000 
A»SPÒ 

  (ii) Bøn ö\»Ä ¹.100 J¸ BønUS 

  (iii) Âø» ¹.5 J¸ A»SUS 

  (iv) øP°¸¨¦ ö\»Ä 20%. 

13. (a) What are the reasons for labour turnover? 

  öuõÈ»õÍº ¦μÒÂØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Rate per hour   – Rs. 1.50 per hour 

  Time allowed for job – 20 hour 

  Time taken   – 15  hour 

  Calculate the total earnings of the worker under the 
Halsey Plan. 

  J¸ ©o ÷|μ Ãu®  – ¹.1.50 (J¸ ©o ÷|μzvØS) 

  £oUPõP AÝ©vUP¨£mh Põ»® –  20 ©o ÷|μ®  

  GkzxU öPõsh ©o ÷|μ® –  15 ©o ÷|μ® 

   íõÀ] vmh •øÓ°À, £o¯õÍ›ß ö©õzu 
Dmkz vÓøÚU PnUQkP. 
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14. (a) Find out Direct Labour hour rate from the following 
information : 

  Total number of employees in the department 200; 
The department works for total of 300 days in a 
year at 8 hours a day. In the total working days 5% 
are considered to be idle time; total annual 
overheads of the department are Rs. 22,800. 

RÌPõq® ÂÁμ[PÐUS £o¯õÍº ÷|μ ÂQuzøu 
Psk¤i : 

ö©õzu £o¯õÍºPÒ 200; J¸ |õøÍUS 8 ©oPÒ 
Ãu® BskUS 300 |õÒPÒ ÷Áø» |øhö£ØÓx; 
ö©õzu ÷Áø» |õÒPÎÀ 5% £o |øhö£ÓÂÀø»; 
BskUS ö©õzu ÷©Øö\»Ä ¹.22,800.  

Or 

 (b) Explain the different methods of absorption of 
overheads.  

  ÷©Øö\»ÄPøÍ £S¨£uØPõÚ ÁøPPøÍ ÂÁ›UP. 

15. (a) Following information is taken from Job No. 303. 

  Materials  :  Rs. 4,010 

  Wages  :  

   Dept A – 60 hours @ Rs. 3 per hour 

   Dept B – 40 hours @ Rs. 2 per hour 

   Dept C – 20 hours @ Rs. 5 per hour 

  Variable Overheads : 

   Dept A –  Rs. 5,000 for 5,000 hours 

   Dept B – Rs. 3,000 for 1,500 hours 

   Dept C – Rs. 2,000 for 500 hours 

  Fixed expenses Rs. 20,000 for 10,000 working hours. 

  Profit : 25% on selling price. 

  Calculate the cost and selling price of Job No.303. 
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  RÌPõq® Â£μ[PÒ £o Gs. 303–À C¸¢x 
GkUP¨£mhx. 

  ‰»¨ö£õ¸ÒPÒ : ¹. 4,010 

  T¼ : 

   xøÓ A – 60 ©o ÷|μ®, J¸ ©o ÷|μzvØS   
       ¹. 3 Ãu® 

   xøÓ B – 40 ©o ÷|μ®, J¸ ©o ÷|μzvØS   
       ¹. 2 Ãu® 

   xøÓ C – 20 ©o ÷|μ®, J¸ ©o ÷|μzvØS   
       ¹. 5 Ãu® 

  ©õÓUTi¯ ÷©Àö\»ÄPÒ : 

   xøÓ A –  ¹. 5,000 ©o ÷|μzvØS  ¹. 5,000  

   xøÓ B – ¹. 3,000 ©o ÷|μzvØS ¹. 1,500  

   xøÓ C – ¹. 2,000 ©o ÷|μzvØS ¹. 500 

  {μ¢ua ö\»ÄPÒ : 10,000 ©o ÷|μzvØS ¹. 20,000  

  C»õ£® : ÂØ£øÚ Âø»°À 25% 

  £o Gs. 303–ß AhUPÂø»ø¯²® ©ØÖ® 
ÂØ£øÚ Âø»ø¯²® Psk¤iUP. 

Or 

 (b) What are the abnormal Profit and Losses? And 
explain the reasons for same. 

  C¯À¦US «Ô C»õ£® ©ØÖ® |mh[PÒ Gß£Ú 
¯õøÁ? Ax HØ£kÁuØPõÚ Põμn[PÒ ¯õøÁ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe briefly the different methods of Costing. 

 AhUPÂø»°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

17. Following transactions took place in respect of an item of 
material : 

 Receipts  
Quantity 

Rate 
Rs. 

Issue  
Quantity

2.9.2014 200 2.00 – 

10.9.2014 300 2.40 – 

15.9.2014 – – 250 

18.9.2014 250 2.60 – 

20.9.2014 – – 200 

 Record the above transactions in the stores ledger, 
pricing the issues at : 

 (a) Simple average rate and  

 (b) Weighted average rate. 

‰»¨ö£õ¸Ò C¸¨¦ öuõhº£õÚ |hÁiUøPPÒ 
¤ßÁ¸©õÖ : 

 ö£ØÓ ö£õ¸Ò Ãu® 
¹. 

öÁÎ°mh 
ö£õ¸Ò 

2.9.2014 200 2.00 – 

10.9.2014 300 2.40 – 

15.9.2014 – – 250 

18.9.2014 250 2.60 – 

20.9.2014 – – 200 
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÷©ØPõq® |hÁiUøPPÒ : 

(A) GÎ¯ \μõ\› Ãu® ©ØÖ® 

(B) Tmh¨£mh \μõ\› Ãu® •øÓ°À öÁÎ°mk 
\μUQ¸¨¦ ÷£÷μk u¯õ›UP. 

18. From the following particulars, prepare a statement of 
labour cost showing the cost per day : 

 (a) Monthly Salary Rs. 225 

 (b) Leave Salary 5% of (a) 

 (c) Employer’s contribution to PF  8% of (a) and (b) 

 (d) Employer’s contribution to ESI  3% of (a) and (b) 

 (e) Pro-rate expenditure on  Rs. 28 per head    
  amenties to labour  per month 

 (f) No.of working hours  8 hours per day 

  (in a month of 25 days) 

 ¤ßÁ¸® Â£μzv¼¸¢x J¸ |õøÍUPõÚ öuõÈ»õÍº 
ö\»ÄUPõÚ AÔUøPø¯ u¯õ›UP : 

 (A) ©õu \®£Í®   ¹. 225  

 (B) Âk¨¦ \®£Í®   5% –À (A) 

 (C) öuõÈÀ A©ºzx£Á›ß ÷\©  8%–À (A) ©ØÖ® (B)  
  |» {vUPõÚ £[PÎ¨¦ 

 (D) öuõÈÀ A©ºzx£Á›ß   3%–À (A) ©ØÖ® (B) 

  ESI UPõÚ £[PÎ¨¦ 

 (E) öuõÈ»õÍº Á\vUPõÚ   ¹.28 J¸ uø»US   
  ÂQuõa\õμ ö\»Ä J¸   ©õu® JßÖUS  
  uø»US ©õu® JßÖUS 

 (F) ÷Áø» ÷|μ[PÎß   ¹.8 ©o ÷|μ®  
  GsoUøP (25 |õmPÒ)  
  öPõsh ©õuzvÀ) 
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19. A company P1, P2 and P3 has three production department 
and S1  and S2 two service departments. The departmental 
expenses were : 

 Production Department : 

  P1 – Rs. 2,500 

  P2 – Rs. 3,100 

  P3 – Rs. 2,800 

 Service Department : 

  S1 – Rs. 800 

  S2 – Rs. 1,390 

 The cost of service departments are allotted on a 
percentage basis of following : 

 P1 P2 P3 S1 S2 

Dept S1 30% 20% 40% – 10% 

Dept S2 40% 15% 25% 20% – 

 Prepare a statement showing the distribution of the two 
service departments expenses to the three departments 
by repeated distribution methods and simultaneous 
equation method. 

J¸ öuõÈØ\õø»°À P1, P2 ©ØÖ® P3 GßÓ ‰ßÖ EØ£zv 

xøÓPÐ® S1 ©ØÖ® S2 GßÓ Cμsk ÷\øÁz xøÓPÐ® 
EÒÍÚ. ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ : 

EØ£zv xøÓ : 

  P1 – ¹. 2,500 

  P2 – ¹. 3,100 

  P3 – ¹. 2,800 

 ÷\øÁ xøÓ : 
  S1 – ¹. 800 

  S2 – ¹. 1,390 
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 ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ RÌPsh \uÂQu 
Ai¨£øh°À £Qº¢uÎUP¨£kQßÓÚ : 

 P1 P2 P3 S1 S2 

xøÓ S1 30% 20% 40% – 10% 

xøÓ S2 40% 15% 25% 20% – 

 Cμsk ÷\øÁz xøÓ°ß ö\»ÂÚ[PøÍz öuõhº 
£Qº¢uÎ¨¦ •øÓ ©ØÖ® ø\©À÷hÛ¯ì •øÓ°À ‰ßÖ 
EØ£zv xøÓPÐUS® £[Qk® ÁøP°À AmhÁøn 
u¯õº ö\´P. 

20. A product is finally obtained after it passes through three 
distinct processes. The following information is available 
from the cost records. 

 Process I
Rs. 

Process II 
Rs. 

Process III 
Rs. 

Total 
Rs. 

Materials 2,600 2,000 1,025 5,625

Direct Wages 2,250 3,680 1,400 7,330

Production 
Overhead 

– – – 7,330

 500 units at Rs. 4 per unit were introduced in Process I. 
Production overheads are absorbed as a percentage of 
direct wages. 

 The actual output and normal loss of the respective 
processes are given below : 

 Output 
(units) 

Normal loss as a 
percentage of 

input 

Value of scrap 
(per units) 

Process I 450 10% Rs. 2 

Process II 340 20% Rs. 4 

Process III 270 25% Rs. 5 

 Prepare process accounts.  
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 J¸ ö£õ¸Ò ‰ßÖ ö\¯À •øÓPÍõÀ u¯õ›UP¨£kQÓx. 
¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\´•øÓU PnUSPøÍz 
u¯õ›UPÄ®. 

 ö\´•øÓ 

I 
¹. 

ö\´•øÓ 

II 
¹. 

ö\´•øÓ 

III 
¹. 

ö©õzu®
¹. 

‰»¨ö£õ¸ÒPÒ 2,600 2,000 1,025 5,625

÷|μiU T¼ 2,250 3,680 1,400 7,330

EØ£zv 
÷©Øö\»Ä 

– – – 7,330

 500 A»SPÒ JÆöÁõßÖ® ¹.4 Âø»°À •ußø© 
‰»¨ö£õ¸Ò ö\´•øÓ I–À ö\¾zu¨£mhx. EØ£zv 
÷©Øö\»ÄPÒ ÷|μiUT¼ ÂQuzvÀ ö\´•øÓPÐUS 
¤›zuÀ ÷Ásk®. 

 ö\´•øÓPÐUPõÚ Â£μ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

 EØ£zv  
(A»S) 

\õuõμn |mh® % 
‰»¨ö£õ¸ÎÀ 

PÈÄ ©v¨¦ 
(A»QØS) 

ö\´•øÓ I 450 10% Rs. 2 

ö\´•øÓ II 340 20% Rs. 4 

ö\´•øÓ III 270 25% Rs. 5 

 

______________ 
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COMMERCIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Contract. 

 J¨£¢u® Áøμ¯Ö. 

2. What are agreements? 

 Ehß£õk GßÓõÀ GßÚ? 

3. What is an indemnity? 

 CÇ¨¥k GßÓõÀ GßÚ? 

4. What is ‘‘Specific Guarantee’’? 

 SÔ¨¤mh EzuμÁõu® GßÓõÀ GßÚ? 

5. What is lien? 

 ö£õ´ GßÓõÀ GßÚ? 

Sub. Code 
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6. Define bailment. 

 J¨¦¸v Áøμ¯Ö. 

7. Who can act as an agent? 

 •PÁμõP ö\¯À£hU Ti¯Áº ¯õº? 

8. What is ostensible authority? 

 öÁÎ¨£øh¯õÚ AvPõμ® GßÓõÀ GßÚ? 

9. What do you mean by Railway Receipt? 

 Cμ°À÷Á μ^x GßÓõÀ GßÚ? 

10. What is meant by a warranty? 

 EzuμÁõu® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the conditions of making an offer? 

   J¸•øÚøÁa ö\´ÁuØS›¯ {£¢uøÚPÒ ¯õøÁ? 

Or 

 (b) What are the elements of valid contract? 

   ö\À»zuUP J¨£¢uzvß TÖPÒ ¯õøÁ? 

12. (a) When is an surety discharged from the liability? 

   ö£õÖ¨¤¼¸¢x áõ«ß G¨÷£õx 
ÂkÂUP¨£kQÓx? 

Or 

 (b) Distinction between Contracts of Indemnity and 
Guarantee — Explain.  

   CÇ¨¥k ©ØÖ® EzuμÁõu J¨£¢u[PÐUS 
Cøh°»õÚ ÷ÁÖ£õkPøÍ ÂÁ›. 
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13. (a) State the classifications of bailments. 

   áõ«ßPÎß ÁøP¨£õmøhU SÔ¨¤hÄ®. 

Or 

 (b) What are the essential features of a valid pledge? 

   E[PÒ ©v¨¦ªUP EÖvö©õÈ°ß •UQ¯ A®\[PÒ 
GßÚ? 

14. (a) Point out any four elements of a valid ratification. 

   ö\À¾£i¯õS® J¨¦u¼ß H÷uÝ® |õßS TÖPøÍ 
_miUPõmkP. 

Or 

 (b) What are the features of contract of agency? 

   {ÖÁÚ J¨£¢uzvß A®\[PÒ GßöÚßÚ? 

15. (a) When can a ‘condition’ be treated as a ‘warranty’ 
under the Sale of goods Act? 

   ö£õ¸mPÎß ÂØ£øÚa \mhzvß RÌ J¸ 
{£¢uøÚø¯ EzuμÁõu©õP G¨÷£õx P¸u»õ®? 

Or 

 (b) What are the concept of sale by non-owners? 

   E›ø©¯õÍº AÀ»õ÷uõº ÂØ£øÚ ö\´uÀ Gß£x 
£ØÔ P¸zx GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the remedies for breach of contract. 

 J¨£¢u •ÔÂØPõÚ wºÂøÚ ÂÁ›. 

17. Describe the essentials of a valid guarantee. 

 \›¯õÚ EzuμÁõuzvß Azv¯õÁ]¯zøu ÂÁ›UP. 
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18. Under what circumstances a non owner can create a 
pledge? 

G¢u G¢u `Ì{ø»°À E›ø©¯õÍº AÀ»õuÁº 
EÖvö©õÈø¯ E¸ÁõUP •i²®? 

19. Enumerate liabilities of the Principal towards third 
parties. 

‰ßÓõ® uμ¨¤Ú¸US •uÀÁ›ß ö£õÖ¨¦PøÍU 
PnUQkP. 

20. Explain the implied warranties in a contract of sale. 

 ÂØ£øÚ J¨£¢uzvÀ ©øÓ•P©õÚ EzuμÁõu[PøÍ 
ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Indirect Tax? 
 ©øÓ•P Á› GßÓõÀ GßÚ? 

2. What do you mean by Personal Income Tax? 
 uÛ|£º Á¸©õÚ Á› GßÓõÀ GßÚ? 

3. Define agricultural Income. 
 ÂÁ\õ¯ Á¸©õÚzøu Áøμ¯ÖUPÄ®. 

4. What is revenue expenditure? 
 Á¸Áõ´ ö\»Ä GßÓõÀ GßÚ? 

5. What is salary? 
 \®£Í® GßÓõÀ GßÚ? 

6. Who is specified employee? 
 SÔ¨¤h¨£mh £o¯õÍº ¯õº? 

7. What is depreciation of the Act? 
 \mhzvß ‰»® ÷u´©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
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8. What is speculative business? 

 FP ÁoP® GßÓõÀ GßÚ? 

9. What do you mean by standard deviation? 

 {ø»¯õÚ Â»US GßÓõÀ GßÚ? 

10. What is casual Income? 

 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the main components of Income Tax Act? 

   Á¸©õÚ Á› \mhzvß •UQ¯ TÖPÒ GßÚ? 

Or 

 (b) State the features of Income. 

   Á¸©õÚzvß ]Ó¨¤¯À¦PøÍ TÖP. 

12. (a) Explain the different kinds of provident funds. 

   £À÷ÁÖ ÁøP¯õÚ Á¸[Põ» øÁ¨¦ {vPøÍ 
ÂÍUSP. 

Or 

 (b) State any five items exempted from Income Tax.  

   Á¸©õÚ Á›°¼¸¢x Â»US AÎUP¨£mh H÷uÝ® 
I¢vß ö£õ¸øÍ SÔ¨¤hÄ®. 

13. (a) Calculate the amount of R.P.F. which is taxable  

  (i) Salary Rs. 7,500 p.m. 

  (ii) Employer’s contribution to R.P.F. @ 14% 
salary 

  (iii) Interest credited to R.P.F during the year  
@ 12% is Rs. 24,000 
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   A[RP›UP¨£mh Á¸[Põ» øÁ¨¦ {v°ß Á› 
öuõøPø¯ PnUQhÄ®. 

   (i) ©õu® \®£Í® ¹. 7,500  

  (ii) •u»õÎ £[PÎ¨¦ A[R›UP¨£mh Á¸[Põ» 
øÁ¨¦ {v 14% \®£Ízvß ©v¨¤À  

  (iii) A[RP›UP¨£mh Á¸[Põ» øÁ¨¦ {v°ß 
Ámi 12% ¹. 24,000 

Or 

 (b) Arun an employee AB Ltd. Received Rs. 96,000 as 
gratuity and not covered by payment of Gratuity 
Act. He retires from services on 31.01.2023 after  
28 years and 9 months service. At the time of 
retirement his salary was Rs. 6,300 p.m. Find out 
taxable gratuity. 

   AB ¼ªöhm FÈ¯º A¸s ¹. 96,000 
£oUöPõøh¨ ö£ØÓõº. £oUöPõøh \mhzvÀ 
EÒÍhUP¨£hÂÀø». 28 Á¸h[PÒ ©ØÖ® 9 ©õu 
÷\øÁUS¨ ¤ÓS 31.01.2023 B® ÷uv •uÀ AÁº 
K´Ä ö£ÖQÓõº. AÁ¸øh¯ \®£Í® ©õuzvØS  
¹. 6,300 Á›US Em£mh £oUöPõøhø¯ 
PnUQkP. 

14. (a) A firms stock of goods values on 1.4.2022 and 
31.3.2023 at Rs. 5,00,000 and Rs. 6,00,000 at 20% 
below the cost. Calculate the amount of under 
valuation of stock. 

   J¸ {ÖÁÚzvß \μUQ¸¨¤ß ©v¨ø£ •øÓ÷¯ 
1.4.2022 ©ØÖ® 31.3.2023 À ¹. 5,00,000 ©ØÖ® 
6,00,000 US SøÓÁõP AhUP Âø»°À 20% BS®. 
\μUQ¸¨¦ ©v¨ø£ SøÓ¨ø£U PnUQkP. 

Or 
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 (b) From the following statement compute the business 
income : 

  Rs. 

(i) Commission earned 8,000

(ii) Purchase 40,000

(iii) Sales 1,20,000

(iv) Staff salary 30,000

(v) Donation to NDF 10,000

   ¤ßÁ¸® uPÁÀPøÍU öPõsk ÁoP Buõ¯® 
PnUQkP. 

  ¹. 

(i) PÈÄ 8,000

(ii) öPõÒ•uÀ 40,000

(iii) ÂØ£øÚ 1,20,000

(iv) A¾Á»P \®£Í® 30,000

(v) |ßöPõøh NDF 10,000

15. (a) Compute Income under the head income from other 
sources of Tirumathi Rajamani. 

  Rs. 

(i) Directors fees 20,000

(ii) Interest from Bank 6,000

(iii) Income from undisclosed sources 24,000

(iv) Dividend on shares (Gross) 12,800

(v) Ground rent 600
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   v¸©v. μõáõ©o°ß ¤Ó Buõμ[PÎÀ C¸¢x 
QøhUS® Á¸©õÚzvß RÌ Á¸©õÚzøu PnUQkP. 

  ¹. 

(i) C¯USÚº Pmhn® 20,000

(ii) Á[Q°À C¸¢x Ámi 6,000

(iii) öÁÎ¨£kzu¨£hõu Buõμ[PÎÀ C¸¢x Á¸©õÚ® 24,000

(iv) £[Põuõ¯® £[SPÎÀ C¸¢x (ö©õzu®) 12,800

(v) {» ÁõhøP 600

Or 

 (b) Briefly explain the capital gains which are 
exempted from tax. 

   Á›°¼¸¢x Â»US AÎUP¨£mh ‰»uÚ 
Buõ¯[PøÍ _¸UP©õP ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the tax system prevalent in India. 
 C¢v¯õÂÀ {»Ä® Á›•øÓø¯ ÂÍUSP. 

17. Explain the scope of total income based on residential 
status. 

 Si²›ø© {ø»°ß Ai¨£øh°À ö©õzu Á¸©õÚzvß 
AÍøÁ ÂÍUSP. 

18. Mr. Raman is employed at Mumbai. His particulars of 
income for the A.Y. 2023-24 are as follows : 

(a) Basic salary Rs. 8,000 p.m. 

 (b) D.A. Rs. 2,000 p.m. (40% is computed for retirement 
benefits) 

 (c) Bonus Rs. 8,000 p.a. 

 (d) Commission allowance Rs. 4,500 p.a. 

 (e) Entertainment allowance Rs. 500 p.m. 

 (f) FRV of the free house provided by the employer  
Rs. 40,000 p.a. value of furniture provides  
Rs. 20,000. 

  Find out the income from salary of Mr. Raman. 
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 v¸. Cμõ©ß •®ø£°À £o¦›QÓõº. A.Y. 2023-24 
BsiØPõÚ AÁμx Á¸©õÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ 

 (A) Ai¨£øh \®£Í® 8,000 p.m. 

 (B) D.A. ¹. 2,000 p.m. (40% K´Åv¯ |ßø©US 
PnUQh¨£mhx) 

 (C) ÷£õÚì ¹. 8,000 p.a.  

 (D) uμS ¹. 4,500 p.a. 

 (E) ö£õÊx÷£õUS £i ¹. 500 p.m. 

 (F) FRV Cß •u»õÎ ÁÇ[Q¯ C»Á\ Ãk 40,000 
©ØÖ® 20,000 ¹£õ´ ©v¨¦ÒÍ uÍÁõh[PÒ 
ÁÇ[P¨£mhx. 

  v¸. Cμõ©ß \®£Ízv¼¸¢x Á¸©õÚzøuU 
PshÔ¯Ä®. 

19. From the following particulars of profit and loss account 
compute the business Income. 

Profit and Loss a/c 

Debit Rs. Credit Rs. 

To office salary 13,000 By Gross profit 80,000

To office for bad debts 6,000 By commission 10,000

To Interest on capital 4,000 By Rent on building 1,000

To Depreciation 2,400  

To Advertisment 4,000  

To fire insurance (building) 6,000  

To Sales tax 2,000  

To net profit 53,600  

 91,000  91,000

Depreciation allowed Rs. 2,000 
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 ¤ßÁ¸® C»õ£ ©ØÖ® |mh® ÂÁμ[PøÍ öPõsk 
ÁoPzvß Buõ¯zøu PnUQkP. 

C»õ£ |mh P/S 

£ØÖ ¹. ÁμÄ ¹. 

A¾Á»P \®£Í® 13,000 ö©õzu C»õ£® 80,000

ÁõμõUPhß JxUS 6,000 PÈÄ 10,000

•uÀ «x Ámi 4,000 Pmih ÁõhøP 1,000

÷u´©õÚ® 2,400  

ÂÍ®£μ® 4,000  

wUPõ¨¥k (Pmih®) 6,000  

ÂØ£øÚ Á› 2,000  

{Pμ C»õ£® 53,600  

 91,000  91,000

 AÝ©vUP¨£mh ÷u´©õÚ® ¹. 2,000 

20. Mr. Ramu sold the assets from following assess during 
the one year 31.3.2023. Prepare capital profit and gross 
profit. 

Sale Proceeds 

  Rs. 

(a) Shop purchased in 2002-2003 (CII : 105 for Rs. 18,000) 70,000

(b) Machinery purchases in 2007-08 (CII : 129 for Rs. 50,000) 
WDV on 1.4.2022 Rs. 35,000 

60,000

(c) Furniture purchased on 1.5.2022 Rs. 1,000 1,300

(d) Agriculture land purchased in coimbatore in 1979-80 for 
Rs. 10,000 (FMV on 1.4.2001 CII :100) being Rs. 15,000 

80,000

(e) On residential house purchases in 2010-11 (CII 167) 
costing (CII :150) Rs. 30,000 

98,200

Compute taxable capital gain (CII for 2022-23 : 331)  
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 v¸. μõ• AÁºPÒ 31.3.2023 B® Bsk •iÁøh¢u 
KμõsiÀ RÌUPsh ö\õzxUPÒ ÂØÖÒÍõº. ‰»uÚ 
C»õ£[PøÍ²® ö©õzu Á¸©õÚzøu²® PnUQkP. 

ÂØ£øÚ ‰»® Qøhzux 

  ¹. 

(A) Pøh 2022&03 B® Bsk ¹.18,000 US Áõ[Q¯x 
(A£õS 105) 

70,000

(B) C¯¢vμ® 2007&08 US ¹. 50,000 US (A.£õ.S. 129) 
Áõ[Q¯x (1.4.2022 ¹. 35,000 WDV) 

60,000

(C) ©øÚxøn ö£õ¸mPÒ 1.5.2022 1000 US Áõ[Q¯x 1,300

(D) ÷Põ¯•zy›À ÂÁ\õ¯ {»® 1979&80 Á¸hzvÀ  
¹. 10,000 US Áõ[Q¯x. Auß ©v¨¦ 1.4.2001 
AßÖ (A.£õ.S. 100) US ¹. 15,000 

80,000

(E) J¸ Si°¸¨¦ Ãk 2010&11 (A£õS 167)À ¹. 
30,000 US Áõ[P¨£mhx (A£õS 150) 

98,200

 Á›UPõÚ ‰»uÚ Buõ¯zøu (A£õS 2022&23  : 331) 
PnUQkP. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define in the term computer. 

 Poö£õÔ Áøμ¯Ö. 

2. What is Super Computer? 

 `¨£º Poö£õÔ GßÓõÀ GßÚ? 

3. What is word document? 

 Word document GßÓõÀ GßÚ? 

4. What is redo? 

 «sk® ö\´ GßÓõÀ GßÚ? 

5. What is MS–Excel? 

 MS-Excel GßÓõÀ GßÚ? 

6. What is column? 

 ö|kÁ›ø\ GßÓõÀ GßÚ? 

Sub. Code 
 

7BCOE1B 
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7. What is New Data Base? 

 ¦v¯ uμÄ uÍ® GßÓõÀ GßÚ? 

8. What is Report? 

 AÔUøP GßÓõÀ GßÚ? 

9. What is MS – Power Point? 

 MS-power point  GßÓõÀ GßÚ? 

10. What is Slid Show?  

 Slid show GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the classification of computers? 

  Po¨ö£õÔ°ß ÁøPPÒ ¯õøÁ? 

Or 

 (b)  What are the Advantages of computers? 

Po¨ö£õÔ°ß |ßø©PÒ ¯õøÁ? 

12. (a) How do you printing a document? 

  J¸ BÁÚzøu GÆÁõÖ Aa]kÁõ´. 

Or 
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 (b)  What are the users for fooder? 

AiUSÔ¨¤ß £¯ßPÒ ¯õøÁ? 

13. (a) What do you known creating formula? 

  `zvμzøu E¸ÁõUSÁx SÔzx }Âº AÔÁx ¯õx? 

Or 

 (b)  Write short note on chart. 

ÂÍUP¨£h® SÔzx ]Ö SÔ¨¦ ÁøμP. 

14. (a) What are the uses of Tables? 

  AmhÁøn°ß £¯ßPÒ ¯õøÁ? 

Or 

 (b)  What are the Advantages of primary key? 

•ußø© Âø\°ß £¯ßPÒ ¯õøÁ? 

15. (a) State the Advantage of slide show. 

  Põm] vøμ°h¼ß |ßø©PÒ ÂÁ›. 

Or 

 (b)  What do you know visual elements? 

Põm] EÖ¨¦ SÔzx }Âº AÔÁx ¯õx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write briefly history of computers. 

Po¨ö£õÔ°ß Áμ»õØÔøÚ _¸UQ GÊxP. 
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17. What one the key uses in MS–Word? 

MS-Word&À EÒÍ Âø\ TÖPÎß £¯ßPøÍ GÊxP. 

18. List out process of preparation of mark sheets. 

©v¨ö£s £mi¯ø» u¯õ›u¼À EÒÍ £i{ø»PøÍ 
£mi¯¼kP.  

19. What are the uses of Ms–Access? 

MS-Access&ß £¯ß£õk ¯õøÁ? 

20. How do you prepare a slide show for seminar? 

J¸ P¸zuμ[PzvØPõÚ Põm] vøμ°hø» GÆÁõÖ 
u¯õ›¨£õ´. 

————— 
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SPECIAL ACCOUNTS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Bank accounts? 

 Á[Q PnUS GßÓõÀ GßÚ? 

2. Define Doubtful assets. 

 \¢÷uPzvØQh©õÚ PhßPÒ Áøμ¯Ö. 

3. What is meant by Reinsurance? 

 ©Ö Põ¨¥k ö£õ¸Ò ¯õx? 

4. What is an IRDA? 

 IRDA – GßÓõÀ GßÚ? 

5. What is double account system? 

 Cμmøh PnUQ¯À •øÓ GßÓõÀ GßÚ? 

6. What is Clear Profit?  

 öuÎÁõÚ C»õ£® GßÓõÀ GßÚ? 
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7. Define a Subsidiary company. 

 xøn {Ö©® – Áøμ¯Ö. 

8. What is Cost of control? 

 Pmk¨£õmk ö\»Ä GßÓõÀ GßÚ? 

9. What is Voyage accounts? 

 PhØ£¯n PnUQ¯À GßÓõÀ GßÚ?  

10. What is Primage? 

 •ußø©¯õÚøÁ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How is Interest on doubtful debts is treated in Bank 
accounts? 

  Á[QU PnUSPÎÀ I¯UPhß «x Ámi G[VÚ® 
øP¯õÍ¨£kQÓx? 

Or 

 (b) From the following Balances prepare the profit and 
loss account of Canara Bank in the revised format. 

 Rs. 

Interest received 5,42,260

Discount received 2,43,760

Commission received 44,240

Interest on deposits 1,60,520

General expenses 1,82,420

Bad debts 1,28,710

  Note : Rebate on bills discounted Rs.64,380. 
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  R÷Ç öPõkUP¨£mkÒÍ {¾øÁPøÍ öPõsk PÚμõ 
Á[Q°ß v¸zu¨£mh ÁiÁzvß C»õ£ |èh 
PnUøP u¯õ›UPÄ®. 

 ¹. 

Ámi ö£Ó¨£mhx 5,42,260

uÒÐ£i ö£Ó¨£mhx 2,43,760

uμS ö£Ó¨£mhx 44,240

øÁ¨¦ «uõÚ Ámi 1,60,520

ö£õx ö\»ÄPÒ 1,82,420

ÁμõUPhß 1,28,710

  SÔ¨¦ : uÒÐ£i ö\´¯¨£h μ^x «uõÚ uÒÐ£i 
Âø» ¹.64,380. 

12. (a) What do you understand by Reserve for Unexpired 
risk? And state the percentages of Reserve for 
Unexpired risks for marine insurance business. 

  Põ»õÁv BPõu Chº Põ¨¦ GßÓõÀ GßÚ? PhÀ 
Põ¨¥miØS GzuøÚ \uÃu® Põ»õÁv BPõu Chº 
Põ¨¦ JxURk ö\´¯ ÷Ásk®?  

Or 

 (b) The following balance are extracted from the books 
of BBL Life Insurance Corporation. 

  Life insurance funds on 31.3.2020 Rs.16,00,000  

  Net liability as per valuation Rs.12,00,000 

  Interim Bonus paid Rs.1,50,00,000.  

  Prepare : 

  (i) The valuation Balance Sheet as on 31.3.2020 
and 

  (ii) The distribution statement. 
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  ¤ßÁ¸® C¸¨¦PÒ BBL B²Ò Põ¨¥mk {ÖÁÚ¨ 

¦zuPzv¼¸¢x GkUP¨£mhøÁ : 

  B²Ò Põ¨¥k {v 31.3.2020 AßÖ ¹.16,00,000  

  ©v¨¥miß£i {Pμ ö£õ¸¨¦PÒ ¹.12,00,000 

  CøhPõ» ÷©¿v¯® ö\¾zv¯x ¹.1,50,00,000.  

  }Âº Põmh ÷Ási¯x : 

  (i) 31.3.2020 ÷uv°mh ©v¨¥k C¸¨¦ {ø» 

SÔ¨¦ ©ØÖ® 

  (ii) £Qº¢uÎUS® AÔUøPø¯ u¯õ›UP. 

13. (a) The TN Electric Co. ltd rebuilt and re-equipped a 

part of their power-house at a cost of Rs.50,00,000; 

the part of the old power house thus superceded had 

cost originally Rs.13,00,000 but if erected at the 

present time would cost 25% more. Rs.50,000 is 

realized from the sale of old materials and 

Rs.25,000 worth of old materials are used in the 

reconstruction and are included in the cost of 

Rs.10,000 mentioned above. 

  Give necessary entries for recording the above 

transaction in the books of the company, indicating 

the allocation between capital and revenue and give 

reasons for such allocations. 
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  TN G»Um›U P®ö£Û ¼ªöhm ¹.50,00,000 
ö\»ÂÀ AuÝøh¯ ªß\õμ EØ£zv ¤›øÁ, ©Ö 
Pmhø©¨¦ ©ØÖ® C¯¢vμ[PøÍ ©õØÔ Aø©zux. 
AuÝøh¯ £øÇ¯ ªß\õμ EØ£zv ¤›øÁ 
¹.13,00,000 ö\»ÂÀ öuõh[Q¯x. Aøu uØö£õÊx 
öuõh[QÚõÀ 25% \uÃu® TkuÀ ö\»Ä BS®. 
¹.50,000 £øÇ¯ ö£õ¸mPøÍ ÂØ£øÚ ö\´Áuß 
‰»® Qøhzux ¹.25,000, ©v¨¦ÒÍ ö£õ¸mPøÍ 
©Ö Pmhø©¨¦ £¯ß£kzu¨£mhx ¹.10,000 À 
CøÁ CμskUS® ÷\ºUP¨£mkÒÍx. 

  ÷©ØTÓ¨£mhøÁUS, {Ö©zvß ¦zuP[PÎÀ 
÷uøÁ¯õÚ SÔ¨÷£kPøÍ u¯õº ö\´P. ÷©¾® 
•u½k ©ØÖ® Á¸Áõ´ GÆÁõÖ ¤›UP¨£k® 
AÁØÔß Põμnzøu ÂÍUSP. 

Or 

 (b) Explain the advantages of Double accounting 
system. 

  Cμmøh PnUS •øÓ°ß |ßø©PøÍ ÂÍUSP. 

14. (a) How would you ascertain the amount of goodwill or 
capital reserve while preparing a consolidated 
Balance Sheet? 

  öPõkUP¨£mh C¸¨¦ {ø»U SÔ¨¤øÚ u¯õ›US® 
ö£õÊx, |Øö£¯º AÀ»x •u½mk Põ¨ø£ GÆÁõÖ 
PnUQkÁõ´? 

Or 

 (b) A Ltd acquires 20,000 shares of B ltd, on 1.10.2020 
at Rs.3,90,000. A Ltd value the machinery at 
Rs.1,25,000 and current assets at Rs.1,37,500. 
Calculate Minority interest. 

Liabilities  Rs. Assets Rs. 

Share of Rs.10 each  2,50,000 Land 2,50,000

General Reserve  Machinery 1,50,000

1.4.2020  1,00,000 Current assets 1,00,000
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Liabilities  Rs. Assets Rs. 

P&L a/c 75,000  

(+) profit (2019-2020) 25,000 1,00,000  

Creditors  50,000  

  5,00,000  5,00,000

  1.10.2020 AßÖ A Ltd, B ltd Cß 20,000 £[SPøÍ 
¹.3,90,000US Áõ[Q¯x. C¯¢vμ ©v¨¦ ¹.1,25,000 
©ØÖ® |h¨¦ ö\õzxUPÒ ¹.1,37,500 ]Ö£õßø© 
{ÖÁÚzøu £[QøÚ PnUQkP. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

£[S •uÀ ¹.10 Ãu® 2,50,000 {»® 2,50,000
ö£õxUPõ¨¦ C¯¢vμ® 1,50,000
1.4.2020 1,00,000 |h¨¦U 

C»õ£ |mh P/S 75,000 ö\õzxUPÒ 1,00,000

(+) C»õ£® (2019-2020) 25,000 1,00,000  
PhÜ¢÷uõº 50,000  

 5,00,000  5,00,000

15. (a) How to calculate voyage in progress? 

  •ß÷ÚØÓ PhÀ £¯nzøu GÆÁõÖ PnUQkÁx? 

Or 

 (b) 1.1.2021, the ship sea walk started on voyage from 
Madras to Singapore. It reached back Madras on 
15.3.2021. Transactions are as follows : 

  Freight outward journey  – Rs.85,000 

  Freight return journey  – Rs.15,000 

  Port charges Rs.45,000; Wages Rs.14,000; Fuel 
Rs.12,000; Brokerage Rs.5,000; Insurance for the 
shop Rs.12,000 p.a. Insurance for Freight Rs.2,500. 
Prepare the Voyage account. 
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  1.1.2021 AßÖ ] ÁõU GÝ® P¨£»õÚx uÚx 
PhØ£¯nzøu ö©mμõê¼¸¢x ][P¨§¸US 
C¯UQ¯x Ax 15.3.2021 ö©mμõéúUS v¸®¤¯x. 
AuÝøh¯ |hÁiUøPPÒ ¤ßÁ¸©õÖ : 

  \zu® öÁÎ¨£¯nzvØS ¹.85,000 ; \zu® v¸®£ 
Á¸® ÷£õx ¹.15,000 ; xøÓ•P Pmhn® ¹.45,000 ; 
T¼ ¹.14,000 ; G›ö£õ¸Ò ¹.12,000 ; PÈÄ ¹.5,000 ; 
JßÖUS P¨£¾UPõÚ Põ¨¥k ¹.12,000 ; \zuzvØPõÚ 
Põ¨¤k ¹.2,500 PhØ£¯nU PnUøP u¯õ›UP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write Specimen form of Balance Sheet of a banking 
company format. 

 Á[Q {Ö©zvß C¸¨¦ {ø»U SÔ¨¦ £iÁ® u¯õº 
ö\´P. 

17. From the following Balance extracted from the books of 
the LIC as at 31.3.2021. Prepare a revenue a/c for the 
year ending 31.3.2021 in the prescribed form. 

 Rs.  Rs. 

Claims by death 3,30,000 Life Assurance fund  

Claims by maturity 2,15,000 (1.4.2020) 63,31,000

Salaries 44,200 Premiums 20,65,000

Travelling expenses 1,200 Bonus in reduction 

Directors fee 8,700 of Premiums 1,000

Commission 2,18,000 Agents and 

Rent 2,800 canvasser allowance 26,500

Law charges 200 Postage 14,300

Surrenders 47,500 Receipt stamps 2,300

 Provide Rs.1,500 for depreciation of furniture and 
Rs.2,20,000 for Depreciation on investments. 
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 B²Ò Põ¨¥k PÇPzvß HkPÎ¼¸¢x 31.3.2021 AßÓ 
GkUP¨£mh C¸¨¦PøÍU öPõsk Á¸Áõ´ P/S&I 
31.3.2021 BskUS £›¢xøμUP¨£mh ÁiÁzvÀ 
u¯õ›UPÄ®. 

 ¹.  ¹. 

C¸¨¦USÔ¨¦  B²Ò Põ¨¥k {v 

E›ø© öuõøP 3,30,000 (1.4.2020) 63,31,000
•vºa]UPõÚ  •øÚ©® 20,65,000
E›ø© öuõøP 2,15,000 •øÚ©zvÀ  

\®£Í® 44,200 SøÓUP¨£mh 

÷£õUSÁμzx ö\»Ä 1,200 ÷©¿v¯® 1,000
C¯USÚ¸US›¯  •PÁº ©ØÖ®  

Pmhn® 8,700 £μ¨¦øμ¯õº £iPÒ 26,500
PÈÄ 2,18,000 u£õÀ ö\»Ä 14,300
ÁõhøP 2,800 ö£ØÓ •zvøμPÒ 2,300
\mha ö\»ÄPÒ 200  

J¨£øhÄ öuõøP 47,500  

 AøÓP»ß «x ¹.1,500 ÷u´©õÚ® •u½k «x® 
¹.2,20,000 }USP. 

18. Velan Electricity Ltd earned a Profit of Rs.26,95,000 
during the year ended March 31, 2021 after debenture 
interest 12% on Rs.5,00,000 with help of the figures given 
below, show the disposal of profits. 

 Rs. 

 Original cost of fixed assets   2,00,00,000 

 Formation and other expenses 11,00,000 

 Monthly average of current assets (net) 52,00,000 

 Reserve fund (represented by 8% Govt. securities) 21,00,000 
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 Rs. 

 Contingencies reserve investments 5,00,000 

 Loan from Electricity Board  30,00,000 

 Total depreciation written off to date 40,00,000 

 Tariffs and dividends control reserve 1,00,000 

 Security deposit received from customers 4,00,000 

 Assume the bank rate as 11%. 

 ÷Á»ß G»Um›U ]mi ¼ªöhm 31.3.2021 AßÖ Phß 

£zvμ Ámi 12%, ¹.5,00,000 ö\¾zv¯ ¤ß¦ ¹.26,95,000 

»õ£® Dmi¯x. ¤ßÁ¸® uPÁÀPøÍ öPõsk C»õ£zøu 

£Qº¢uÎ. 

 ¹. 

 {ø» ö\õzxUPÎß Esø© AhUP® 2,00,00,000 

 E¸ÁõUP® ©ØÖ® Cuμ ö\»ÄPÒ 11,00,000 

 |h¨¦a ö\õzxUPÒ ©õuõ¢vμ \μõ\› ({Pμ) 52,00,000 

 Põ¨¦ {v (8% Aμ\õ[P £zvμ[PÒ) 21,00,000 

 Cuμ Põ¨¦ •u½kPÒ    5,00,000 

 ªß\õμ Áõ›¯ªhzv¼¸¢u Phß 30,00,000 

 uØö£õÊx Áøμ GÊu¨£mh ö©õzu ÷u´©õÚ® 40,00,000 

 Á› ©ØÖ® £[Põuõ¯ Pmk¨£õk Põ¨¦ 1,00,000 

 ÁõiUøP¯õÍ›hª¸¢x ö£Ó¨£mh £õxPõ¨¦   

 øÁ¨¦ öuõøP    4,00,000 

 Á[Q ÂQu® 11% GÚ FP® ö\´P. 
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19. Calculate Minority interest from the Balance Sheet of 
Calcutta Ltd 

Balance Sheet of Calcutta Ltd as on 31.12.2021 
Liabilities Rs. Assets Rs. 

Share capital : Sundry assets 20,00,000

12,50,000 share Plant and  

of Rs.2 each 25,00,000 Machinery 12,00,000

General Reserve Other assets 3,50,000

as on 1.1.2021 10,00,000 Investments 

Creditors 5,00,000 (80% of shares) 7,50,000

P&L a/c as on   

31.12.2021 3,00,000  

 43,00,000  43,00,000

 Madras Ltd acquired 80% of the shares Rs.7,50,000. 

 PÀPzuõ {Ö©zvß C¸¨¦ {ø» SÔ¨¤¼¸¢x 
]Ö£õsø© |»øÚ Psk¤i. 

 31.12.2021® Bsiß PÀPzuõ {Ö©zvß  
C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® : £Ø£» ö\õzxUPÒ 20,00,000

12,50,000 ¹.2 Ãu® 25,00,000 ö£õÔ ©ØÖ® 

1.1.2021 ö£õxU C¯¢vμ® 12,00,000
Põ¨¦ 10,00,000 Cuμ ö\õzxPÒ 3,50,000
PhÜ¢÷uõº 5,00,000 •u½kPÒ 

C»õ£ |mh P/S (80% £[SPÒ) 7,50,000

31.12.2021 3,00,000  

 43,00,000  43,00,000

 £®£õ´ {Ö©zvß 80% £[SPøÍ ¹.7,50,000US 
Áõ[Q¯x. 
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20. From the information given below prepare a ‘Crop account’ 
to ascertain the gross profit made by this section of the 
farm. 

 Rs.  Rs. 
Opening stock Sale of grain 33,000
 Grains 18,000 Grain distributed 
 Seeds 5,000 as wages 37,000
 Fertilizer 3,000 Wages paid in cash 43,000
Purchase : Grain used by  
 Grains 15,000 the proprietor 27,000
 Seeds 25,000 Grain consumed 
 Fertilizer 6,000 by the livestock 
 section 19,000
Closing stock : Repairs and 
 Grains 37,000 Maintenance 25,000
 Seeds 3,000  
 Fertilizer 4,000  

 RÌÁ¸® ÂÁμ[PÎ¼¸¢x, ÂÁ\õ¯ PnUQøÚ Auß 
•øÓø¯ u¯õ›zx ö©õzu C»õ£zøu PõsP. 

 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ uõÛ¯ ÂØ£øÚ 33,000
 uõÛ¯[PÒ 18,000 uõÛ¯[PÒ  

 ÂøuPÒ 5,000 £QºÄUS T¼ 37,000
 Eμ[PÒ 3,000 öμõUP©õP ö\¾zv¯ T¼ 43,000
öPõÒ•uÀ : E›ø©¯õÒ £¯ß£kzv¯

 uõÛ¯[PÒ 15,000 uõÛ¯[PÒ 27,000
 ÂøuPÒ 25,000 ÷|μi £[Qß ‰»® 

 Eμ[PÒ 6,000 |Pμ¨£k® uõÛ¯[PÒ 19,000
CÖv \μUQ¸¨¦ : £Êx£õº¨¦® £μõ©›¨¦® 25,000
 uõÛ¯[PÒ 37,000  
 ÂøuPÒ 3,000  
 Eμ[PÒ 4,000  

———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What is management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. State any four limitation of management accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® |õßS SøÓ¨£õkPøÍ 
TÖP. 

3. What do you mean by Profitability? 

 C»õ£Pz ußø© GßÓõÀ GßÚ? 

4. What is solvency ratios? 

 wºÄ ÂQu[PÒ GßÓõÀ GßÚ? 

5. State the meaning fund flow statement. 

 {v |h©õmh AÔUøP ö£õ¸Ò u¸P.  

6. What is  cash flow statement? 

 öμõUP |h©õmh AÔUøP GßÓõÀ GßÚ? 

Sub. Code 
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7. What is budgetary control? 

 ÁμÄ ö\»Ä vmh Pmk¨£õk GßÓõÀ GßÚ? 

8. What is flexible budget? 

 ö|QÌÄ vmh® GßÓõÀ GßÚ? 

9. What is Break even point? 

 C»õ£ |mh¨¦ÒÎ GßÓõÀ GßÚ? 

10. List out the benefits of standard costing. 

 {ºn°UP¨£mh AhUPÂø»°ß |ßø©PøÍ 
£mi¯¼kP. 

 Section B  (5 × 5 = 25) 

Answer all questions. 

11. (a) State the functions of management accounting. 

  ÷©»õsø© PnUQ¯¼ß £oPøÍU TÖP. 

Or 

 (b) What are the objectives of management accounting? 

  ÷©»õsø© PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

12. (a)  

 Rs. 

Cash  18,000

Debtors  1,42,000

Closing stock  1,80,000

Bills payable  27,000

Creditors  50,000

Outstanding expenses  15,000

Tax payable  75,000
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  Calculate : 

  (i) Current ratio  

  (ii) Liquidity ratio and  

  (iii) Absolute liquidity ratio  
 ¹. 

öμõUP® 18,000
PhÚõÎPÒ 1,42,000
CÖv \μUQ¸¨¦ 1,80,000
ö\¾zxÁuØS›¯ ©õØÖa^mk 27,000
PhÜ¢÷uõºPÒ 50,000
öPõk£hõu ö\»ÄPÒ 15,000
ö\¾zu ÷Ási¯Á›  75,000

  Psk¤i : 

  (i) |h¨¦ ÂQu®  

  (ii) £n¨¦ÇUP ÂQu® ©ØÖ® 

  (iii) •Êø©¯õÚ £n¨¦ÇUP ÂQu®. 

Or 
(b)  Rs. 

 Annual credit sales  25,000 

 Returns  1,000 

 Debtors  3,000 

 Bills Receivables  1,000 

  Find out debtors turnover ratio. 
  ¹. 

 Bsk Phß ÂØ£øÚ 25,000

 v¸¨£® 1,000

 PhÚõÎPÒ 3,000

 ö£ÖuØS›¯ ©õØÖa^mk  1,000

  PhÚõÎPÒ ©õØÖ ÂQuzvøÚU PnUQkP. 
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13. (a) Explain the limitations of fund flow statement. 

  öμõUP |h©õmh AÔUøP°ß SøÓ£õkPøÍ ÂÁ›. 

Or 

 (b) Compute cash from operations from the following : 

 Rs. 

Net profit for the year 2020-2021  80,000

Depreciation written off on fixed assets 11,000

Profit on sale of building  22,000

Loss on sale of machine  13,000

Increase in current assets (except cash) 46,000

Increase in current liabilities  29,000

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
£nzøuU PnUQk[PÒ : 

  ¹. 

2020-2021 B® BskUPõÚ {Pμ »õ£® 80,000

{ø»¯õÚ ö\õzxUPÎÀ ÷u´©õÚ® GÊu¨£mhx 11,000

Pmih ÂØ£øÚ°À »õ£® 22,000

C¯¢vμ ÂØ£øÚ°À |èh® 13,000

uØ÷£õøu¯ ö\õzxPÎß AvP›¨¦ (£n® uÂμ) 46,000

uØ÷£õøu¯ ö£õÖ¨¦PÎÀ AvP›¨¦  29,000

14. (a) The following over head expense relates to a cost 
centre at 50% normal capacity. Draw up a flexible 
budget for the cost centre for operating at 75%, 
100% and 125% of normal capacity. Indicate the 
basis and assumptions upon which various expenses 
are divided. 
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 Rs.

Foreman 100

Assistant foreman  40 

Inspectors  65 

Shop labourers 50 

Machinery repairs  120

Defective work  25 

Consumable stores  20 

Over time bonus  – 

Machine depreciation 140

   J¸ ö\»Ä ø©¯zvß 50% \õuõμn öPõÒÍÍÄÒÍ 
÷©Øö\»ÄPÎß ÂÁμ[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 75%, 100% ©ØÖ® 125% UPõÚ 
\õuõμn öPõÒÍÍÄÒÍ ö|QÌa] vmh¨£mi¯À 
JßøÓ PnUQk. Auß Ai¨£øh ³P[PøÍ²® 
Auß £À÷ÁÖ ö\»ÄPøÍ ¤›zx Põmi²ÒÍÚ. 

   
 ¹. 

_ø© yUS£Áº  100 

EuÂ _ø© yUS£Áº  40 

B´ÁõÍºPÒ  65 

Pøh FÈ¯ºPÒ 50 

£Êuøh¢u C¯¢vμ® 120 

SøÓÁõÚ ÷Áø»  25 

~Pºö£õ¸Ò A[Põi  20 

FUPzöuõøP & AvP ÷|μ® – 

C¯¢vμ® ÷u´©õÚ® 140 

 Or 
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 (b) Explain the various types of budgets. 

  £À÷ÁÖ ÁøP¯õÚ vmh¨ £mi¯ÀPøÍ 
ÂÍUS[PÒ. 

15.  (a) From the following data, compute material mix 
variance : 

Particulars  Standard mix  Actual mix  

Material X  150 kgs @ 30 175 kgs @ 30

Material Y 100 kgs @ 40 125 kgs @ 40

 250  300  

  RÌUPsh ÂÁμ[PÎ¼¸¢x ‰»¨ö£õ¸Ò P»¨¦ 
©õÖ£õmøh PnUQkP. 

ö£õ¸Ò   {μ¢uμ P»¨¦ Esø© P»¨¦ 

‰»¨ö£õ¸Ò X  150 Q÷»õ @ 30 175 Q÷»õ @ 30

‰»¨ö£õ¸Ò Y 100 Q÷»õ @ 40 125 Q÷»õ @ 40

 250  300  

Or 

 (b) Sales and profit during two periods were as follows : 

  Period I – Sales Rs. 1.20 lakhs; Profit Rs. 9,000 

  Period II – Sales Rs. 1.40 lakhs; profit Rs. 13,000  

  Calculate : 

  (i) P/V ratio  

  (ii) Break-even point and  

  (iii) Sales to earn a profit of Rs. 20,000  

  ÂØ£øÚ ©ØÖ® C»õ£® C¸Põ» Pmh[PÎÀ 
¤ßÁ¸©õÖ EÒÍÚ. 

  Põ»® I – ÂØ£øÚ ¹. 1.20 C»m\®; C»õ£®  ¹. 9,000 

  Põ»® II – ÂØ£øÚ ¹. 1.40 C»m\®; C»õ£® ¹. 13,000 
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  PnUQkP : 

  (i) £[PÎ¨¦ ÂQu® 

  (ii) \©{ø»¨¦ÒÎ ©ØÖ®  

  (iii) ¹. 20,000 C»õ£® ö£Ó ö\´¯¨£h ÷Ási¯ 
ÂØ£øÚ    

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between Financial Accounting and 
Management Accounting. 

 {v{ø» PnUQ¯¾US®, ÷©»õsø© PnUQ¯¾US® 
EÒÍ ÷ÁÖ£õkPøÍ GÊxP. 

17. From the following profit and loss a/c of RS Ltd. for the 
year ended 31st March 2019. 

Dr.     Cr. 

  Rs.   Rs. 

To  Opening stock  1,00,000 By Sales  5,60,000

To Purchases  3,50,000 By Closing stock 1,00,000

To  Wages  9,000   

To Gross profit c/d  2,01,000   

  6,60,000   6,60,000

To  Administrative   By Gross profit  

  expenses 20,000  b/d 2,01,000

To Selling expenses 89,000 By Interest on  

To  Non-Operating   By  Investment 10,000

  expenses 30,000  Profit on sale 

To Net profit  80,000   of Investment 8,000

  2,19,000   2,19,000
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 Find out : 

 (a) Gross profit ratio 

 (b) Net profit ratio 

 (c) Operating ratio 

 (d) Operating profit ratio and 

 (e) Administrative expenses ratio. 

 31 ©õºa 2019&® |õ÷Íõk •iÁøh²®, RS Ltd. C»õ£ 
|mhU PnUS : 

 ¹.  ¹. 

öuõhUPa \μUQ¸¨¦ 1,00,000 ÂØ£øÚ 5,60,000
öPõÒ•uÀ  3,50,000 CÖv \μUQ¸¨¦  1,00,000
T¼ 9,000  
ö©õzu C»õ£® R/C 2,01,000  
 6,60,000  6,60,000
   
{ºÁõPa ö\»ÄPÒ 20,000 ö©õzu C»õ£® R/öPõ 2,01,000
ÂØ£øÚa ö\»ÄPÒ 89,000 •u½kPÒ «uõÚ Ámi 10,000
ö\¯À£õhØÓ   •u½kPÒ ÂØ£øÚ  

  ö\»ÄPÒ 30,000   «uõÚ C»õ£® 8,000
{Pμ C»õ£®  80,000  

 2,19,000  2,19,000

 ¤ßÁ¸ÁÚÁØøÓ Psk¤i : 

 (A) ö©õzu C»õ£ ÂQu®  

 (B) {Pμ C»õ£ ÂQu® 

 (C) ö\¯À£õmk ÂQu® 

 (D) ö\¯À£õmk C»õ£ ÂQu® ©ØÖ® 

 (E) {ºÁõPa ö\»ÄPÒ ÂQu®  
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18. Prepare the schedule of changes in working capital from 
the balance sheet given below : 

Balance sheet 
Liabilities  31.12.2019  31.12.2020 Assets  31.12.2019 31.12.2020

 Rs.  Rs.  Rs. Rs. 

Share     Machinery 70,000 1,00,000

  capital 3,00,000  3,75,000 Stock  1,21,000 1,36,000

Creditors  1,06,000  70,000 Debtors  1,81,000 1,70,000

P/L account 14,000  31,000 Cash  48,000 70,000

 4,20,000  4,76,000  4,20,000 4,76,000

 R÷Ç öPõkUP¨£mkÒÍ C¸¨¦ {ø»U SÔ¨ø£U öPõsk 
|øh•øÓ ‰»uÚ ©õÖuÀ £mi¯¼øÚ u¯õº ö\´P. 

C¸¨¦ {ø»U SÔ¨¦  
ö£õÖ¨¦PÒ 31.12.2019  31.12.2020 ö\õzxUPÒ 31.12.2019 31.12.2020

 ¹.  ¹.  ¹. ¹. 

£[S •uÀ  3,00,000  3,75,000 C¯¢vμ[PÒ 70,000 1,00,000
PhÜ¢÷uõº 1,06,000  70,000 \μUS 1,21,000 1,36,000
C/| PnUS 14,000  31,000 PhÚõÎPÒ 1,81,000 1,70,000
    öμõUP® 48,000 70,000

 4,20,000  4,76,000  4,20,000 4,76,000

19. Mr. Karthick and Company wishes to prepare cash 
budget from January to June. 

Month  Total  
Sales  

Materials Wages Production 
overhead 

Selling and 
distribution 

 Rs. Rs. Rs. Rs. Rs. 
January 20,000 20,000 4,000 3,200 800 
February 22,000 14,000 4,400 3,300 900 
March  24,000 14,000 4,600 3,300 800 
April 26,000 12,000 4,600 3,400 900 
May  28,000 12,000 4,800 3,500 900 
June  30,000 18,000 4,800 3,600 1,000 
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 Cash balance on 1st January was Rs. 10,000. A new 
machine is to be installed at Rs. 30,000 on credit to be 
repaid by two equal instalments in March and April. 

 Sales commission at 5% on total sales is to paid within 
the month following actual sales Rs. 10,000 being the 
amount by 2nd call may be received in March. Share 
premium  amounting to Rs. 2,000 is also obtained with 
2nd call.  

 Period of credit allowed by suppliers – 2 months  

 Period of credit allowed to customers – 1 month  

 Delay in payment of overhead – 1 month  

 Delay in payment of wages - 2
1 month. 

 Assume cash sales to be 50% by the total sales. 

 v¸. PõºzvU {ÖÁÚ® öμõUPzvmh £mi¯ø» áÚÁ›°À 
C¸¢x áüß ©õu® Áøμ u¯õ›UP Â¸®¦QÓx. 

©õu®  ö©õzu 
ÂØ£øÚ  

‰»¨ 
ö£õ¸mPÒ  

T¼ EØ£zv 
÷©À 

ö\»ÄPÒ 

ÂØ£øÚ ©ØÖ® 
£QºÄ ÷©À 
ö\»ÄPÒ 

 ¹. ¹. ¹. ¹. ¹. 

áÚÁ› 20,000 20,000 4,000 3,200 800 

¤¨μÁ› 22,000 14,000 4,400 3,300 900 

©õºa 24,000 14,000 4,600 3,300 800 

H¨μÀ 26,000 12,000 4,600 3,400 900 

÷© 28,000 12,000 4,800 3,500 900 
áüß 30,000 18,000 4,800 3,600 1,000 

 áÚÁ› 1&® ÷uvUPõÚ öμõUP øP°¸¨¦ ¹. 10,000.  
¹. 30,000 ©v¨¦ÒÍ ¦v¯ C¯¢vμzøu PhÝUS 
Áõ[Q¯øu ©õºa, H¨μÀ ©õu[PÎÀ Cμsk uÁøn¯õP 
öPõkUP ÷Ásk®.  
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 ÂØ£øÚU PÈÄ ö©õzu ÂØ£øÚ°À 5 \uÂQu® {PÌ¢u 
ÂØ£øÚ ©õuzvØS Akzu ©õuzvÀ ö\¾zu ÷Ásk®. 
¹. 10,000 Cμshõ® AøÇ¨¦hß ÷\ºzxz uμ¨£k®. 2Áx 
AøÇ¨¤ß ‰»® £[S •øÚ©® öuõøP ¹. 2,000 
ö£Ó¨£k®. 

 \μUøP AÎ¨£ÁºPÒ öPõkUS® Phß Põ»® 2 ©õu® 

 ÁõiUøP¯õÍºPÐUS AÎUS® Phß Põ»® 1 ©õu® 

 ÷©À ö\»ÄPÒ öPõkzu uõ©u Põ»® 1 ©õu® 

 T¼ öPõkUP uõ©u Põ»® 2
1  ©õu® 

 öμõUP ÂØ£øÚ ö©õzu ÂØ£øÚ°À 50% GßÖ öPõÒP. 

20. You are given the following information in respect of a 
company. 

 (a) Fixed cost   Rs. 13,000 

 (b) Variable cost  Rs. 15,000 

 (c) Total cost   Rs. 28,000 

 (d) Net profit   Rs. 2,000 

 (e) Net Sales   Rs. 30,000 

 Calculate : 

  (i) Find out the break-even point  

  (ii) Forecast the profit for sales volume Rs. 50,000 

  (iii) Estimate the volume of sales turnover to make 
a net profit of Rs. 20,000 

 J¸ {ÖÁÚzvß uPÁÀPÒ E[PÐUS 
öPõkUP¨£mkÒÍx. 

 (A) {ø»¯õÚ ö\»Ä  ¹. 13,000 

 (B) ©õÖ£k® ö\»Ä  ¹. 15,000 

 (C) ö©õzu ö\»Ä    ¹. 28,000 

 (D) {Pμ C»õ£®   ¹. 2,000 

 (E) {Pμ ÂØ£øÚ   ¹. 30,000 
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 PnUQkP : 

  (i) C»õ£ |mh©ØÓ ¦ÒÎ 

  (ii) ÂØ£øÚ¯õÚx ¹. 50,000 BP C¸US® 
ö£õÊx C»õ£® GßÚ ©ØÖ®  

  (iii) ¹. 20,000 C»õ£® Dmh ÷uøÁ¨£k® ÂØ£øÚ 

  

——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Who is child? 

 SÇ¢øu Gß£Áº ¯õº? 

2. What is leave with wages? 

 T¼²hß Ti¯ Âk¨¦ GßÓõÀ GßÚ? 

3. What is general fund? 

 ö£õx {v GßÓõÀ GßÚ? 

4. What is minimum wages? 

 SøÓ¢u £m\ T¼ GßÓõÀ GßÚ? 

5. Define strike. 

 ÷Áø» {Özu® Áøμ¯ÖUP 

6. What is lay off? 

 £o}UP® GßÓõÀ GßÚ? 

Sub. Code 
7BCO6C3 



F–0186 

  

  2

7. What is compensation? 

 CÇ¨¥k GßÓõÀ GßÚ? 

8. What is temporary disablement? 

 uØPõ¼P ö\¯¼Ç¨¦ GßÓõÀ GßÚ? 

9. What is the main purpose of Provident Fund? 

 ÷\©|» {v°ß •UQ¯ £¯ß ¯õx? 

10. What is Insurance? 

 Põ¨¥k GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the role of inspecting staff as per the 
Factories Act, 1948? 

   1948, öuõÈØ\õø» \mh¨£i B´Ä A¾Á»›ß 
£[QøÚ ÂÁ›. 

Or 

 (b) Write the provisions of Law related to women 
workers in factory.  

   öuõÈØ\õø»°À ö£s FÈ¯¸UPõÚ \mh ÂvPøÍ 
GÊxP. 

12. (a) What are the rights of trade unions? 

   öuõÈØ\[P[PÎß AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) List out the procedure for fixing wages according to 
minimum wages act, 1948.  

   1948, SøÓ¢u£m\ T¼UPõÚ \mh¨£i, T¼ 
{ºn¯zvØPõÚ •øÓPøÍ £mi¯¼kP. 



F–0186 

  

  3

13. (a) What are the advantages of the Industrial Disputes 
Act, 1947? 

   1947, öuõÈØ\õø» \ºaø\PÐUPõÚ \mhzvß 
|ßø©PÒ ¯õøÁ? 

Or 

 (b) Write a short note on lock outs, of factory. 

   öuõÈØ\õø» §mkuÀ SÔzx ]Ö SÔ¨¦ GÊxP. 

14. (a) What are the scope of Workmen’s Compensation 
Act, 1923? 

   1923, öuõÈØ\õø» CÇ¨¥k \mhzvß Áõ´¨¦PÒ 
¯õøÁ? 

Or 

 (b) What do you know about partial disablement? 

   £Sv ö\¯¼Ç¨¦ SÔzx }Âº AÔÁx ¯õx? 

15. (a) Explain the advantages of Employee’s Provident 
Fund. 

   öuõÈ»õÍº ÷\© |»{v°ß |ßø©PøÍ ÂÁ›. 

Or 

 (b) Write the benefits of Insurance. 

   Põ¨¥miß |ßø©PøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the provisions of health and safety of workers as 
per the Factories Act. 1948.  

1948 öuõÈØ\õø» \mhzvß£i B÷μõUQ¯® ©ØÖ® 
£õxPõ¨¦ SÔzu \mhÂvPøÍ ÂÁ›. 
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17. State the steps for Amalgamation of trade unions. 

 öuõÈØ\[P[PøÍ J¸[Qønzx ÷\ºzu¾UPõÚ 
£i{ø»PøÍ ÂÁ›. 

18. Write the important  provisions of the industrial Disputes 
Act, 1947. 

1947, öuõÈØ\õø» \ºaø\PÐUPõÚ \mhzvß •UQ¯ 
\mhÂvPøÍ GÊxP. 

19. Discuss the various types of disablement as per 
workmen’s Compensation Act, 1923. 

1923, öuõÈ»õÍº CÇ¨¥k \mhzvß£i EÒÍ £À÷ÁÖ 
FÚ[PÎÀ ÁøPPøÍ ÂÁõv. 

20. What are the procedure for claim on Insurance?  

 Põ¨¥mk öuõøP ÷Põ›UøP ö£¸u¼ß •øÓø©PÒ 
¯õøÁ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is tax relief? 

 Á›a\¾øP GßÓõÀ GßÚ? 

2. What is section 80C IT Act 1961? 

 ¤›Ä 80C Á¸©õÚ Á›\mh® 1961 GßÓõÀ GßÚ? 

3. What is AMT? 

 AMT GßÓõÀ GßÚ? 

4. Who is a member of HUF? 

 HUF&Cß EÖ¨¤Úº ¯õº? 

5. Expand C.B.D.T. 

 C.B.D.T Â›Â£kzx[PÒ. 

6. Who is an Tax Recovery officers?  

 Á› «m¦ AvPõ›PÒ ¯õº? 
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7. What do you mean by Re-assessment? 
 ©Ö ©v¨¥k ‰»® }[PÒ GßÚ ö\õÀQÕºPÒ? 

8. What do you mean by Rectification of mistakes? 
 uÁÖPøÍ v¸zxÁuß ‰»® GßÓõÀ GßÚ? 

9. What is Due Date? 
 CÖv ÷uv GßÓõÀ GßÚ? 

10. Define Appeal. 
 •øÓ±møh Áøμ¯ÖUPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mr. Balaji the following incomes for the  
PY 2022-23.  

 Rs. 

Business income (–) 10,000 

Short-term capital gain 10,000 

Long-term capital gain 2,69,000 

   Find out the total income for the assessment year 
2023-24 assuming that the pays life insurance 
premium of Rs. 4,000. 

   v¸. £õ»õâ, •¢øu¯ 2022-23 B® BsiØPõÚ 
¤ßÁ¸® Á¸©õÚ[PÒ.  

 ¹. 
ÁoP Á¸©õÚ® (–) 10,000 
SÖQ¯ Põ» ‰»uÚ Buõ¯® 10,000 
}sh Põ» ‰»uÚ Buõ¯® 2,69,000 

    2023-24 ©v¨¥mk Bsiß ö©õzu Á¸©õÚzøu 
PshÔ¯Ä®. AÁº B²Ò Põ¨¥mk ¤Ÿª¯®  
¹. 4,000 ö\¾zxQÓõº GßÖ øÁzxUöPõÒ÷Áõ®. 

Or 
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 (b) What are provisions governing set off of losses? 

   CÇ¨¦PøÍ {ºn°US® ÂvPÒ GßÚ? 

12. (a) State the essential requirements of an HVF. 

   HVF&Cß Azv¯õÁ]¯ ÷uøÁPøÍ SÔ¨¤hÄ®. 

Or 

 (b) Compute the term liability Mr. Poomi in the 
following cases:  

   (i) Taxable Incomes Rs. 1,70,000 

   (ii) Taxable Incomes Rs. 5,50,000 

   (iii) Taxable Incomes Rs. 10,30,000 

   ¤ßÁ¸® \¢uº¨£[PÎÀ v¸. §ª°ß ö£õÖ¨ø£ 
PnUQkP. 

    (i) Á›US Em£h Á¸©õÚ® ¹. 1,70,000 

     (ii) Á›US Em£h Á¸©õÚ® ¹. 5,50,000 

     (iii) Á›US Em£h Á¸©õÚ® ¹. 10,30,000 

13. (a) State the powers of commissioner of Income Tax. 

   Á¸©õÚ Á› Bøn¯›ß AvPõμ[PøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) What are the procedure of Appellate Tribunal? 

   ÷©À•øÓ±k ©ØÖ® wº¨£õ¯zvß |øh•øÓPÒ 
GßÚ. 

14. (a) Briefly explain the security assessment. 

   B´Ä ©v¨¥møh _¸UP©õP ÂÍUPÄ®. 

Or 

 (b) Write a note on rectification of mistakes. 

   uÁÖPøÍ v¸zxÁuØPõÚ SÔ¨ø£ GÊxP. 
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15. (a) What are the advantages of TDS? 

   TDS |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the advance tax is liable to be paid. 

   •ßTmi÷¯ Á› ö\¾zxÀ SÔ¨¦ ÁøμP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following are the particulars of the income of Mr. X 
working in a company at Mumbai.  

 Rs.  Rs. 

Salary 10,000 p.m Interest on bank 15,000

D.A 4,000 p.m Winning lotteries 5,000

HRA 2,500 p.m LTCG 10,000

Dividend received 4,000 STCG 6,000

Rent from house 10,000 Contribution to RPF 10,000

 Find out his total income tax the AY 2023-24. 

 •®ø£°À EÒÍ {ÖÁÚzvß £o¦›²® v¸. X Cß 
Á¸©õÚzvß ¤ßÁ¸® ÂÁμ[PÒ. 

 ¹.  ¹. 

\®£Í® 10,000 p.m Ámi Á[Q 15,000

D.A 4,000 p.m C»õmh›ø¯ öÁßÓx 5,000

HRA 2,500 p.m LTCG 10,000

£[Põu¯®  4,000 STCG 6,000

ÁõhøP ö£ØÓx 10,000 RPF UPõÚ £[PÎ¨¦ 10,000

  2023-24 ©v¨¥mk BsiØPõÚ AÁμx ö©õzu 
Á¸©õÚzøuU PshÔ¯Ä®. 
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17. Compute tax liability of Mr. X for the details given below:  

  Rs. 

(a) Income from salary 1,00,000

(b) Income from H/P 15,000

(c) Short term capital gain 5,000

(d) Long term capital gain 10,000

(e) Income from other sources 60,000

(f) Total deduction except 80G 20,000

(g) Donation PM fund 27,000

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS v¸. X Cß 

Á›¨ö£õÖ¨ø£U PnUQkP. 

  Rs. 

(A) \®£Ízv¼¸¢x Á¸©õÚ® 1,00,000

(B) HP&°¼¸¢x Á¸©õÚ® 15,000

(C) SÖQ¯ Põ» ‰»uÚ Buõ¯® 5,000

(D) }sh Põ» ‰»uÚ Buõ¯® 10,000

(E) ©ØÓ Buõμ[PÎÀ C¸¢x 60,000

(F) ö©õzu PÈÄ 80G 20,000

(G) PM |ßöPõøh 27,000

18. Who is an assessing officer? Explain his function and 

powers. 

©v¨¥mk AvPõ› ¯õº? AÁμx ö\¯À£õkPÒ ©ØÖ® 

AvPõμ[PøÍ ÂÍUSP. 
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19. Discuss the procedure for Assessment. 

 ©v¨¥k ö\¯À•øÓ £ØÔ ÂÁõvUPÄ®. 

20. Give the format computation of advance tax.  

 •ßTmi÷¯ Á›°ß PnURmk ÁiÁzøu öPõkUPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by auditing? 

 uoUøP°À GßÓõÀ GßÚ? 

2. Define ‘Investigation’. 

 ¦»Úõ´Âß C»UPnzøu TÖ. 

3. What is meant by Auditor? 

 uoUøP¯õÍº GßÓõÀ GßÚ? 

4. What do you mean by Audit Working papers? 

 uoUøP ÷Áø» BÁn[PÒ GßÖ GßÚ ö\õÀQÕºPÒ? 

5. Define Vouching. 

 \õßÓõ´Ä C»UPnzøu TÖ. 

6. What is Vouching of cash book? 

 öμõUP ¦zuPzvß EÖvö©õÈ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is verification of assets? 

 ö\õzxUPøÍ \›£õºzuÀ GßÓõÀ GßÚ? 

8. Define the verification. 

 Põ» \›£õº¨ø£ Áøμ¯ÖUPÄ®. 

9. What damages arise out of negligence? 

 PÁÚUSøÓÁõÀ GßÚ £õv¨¦ HØ£kQÓx. 

10. What do you mean by Professional misconduct of an 
auditor? 

J¸ uoUøP¯õÍ›ß öuõÈÀ•øÓ uÁÓõÚ |hzøu GßÖ 
}[PÒ GßÚ ö\õÀQÕºPÒ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How Investigation differ from an audit? 

   ¦»Úõ´Ä Gß£x uoUøP°¼¸¢x GÆÁõÖ 
÷ÁÖ£kQ¯x? 

Or 

 (b) Explain the objectives of audit. 

   uoUøP°ß ÷|õUP[PøÍ ÂÍUS. 

12. (a) State the advantages of audit programme. 

   uoUøP AmhÁøn°ß ußø©PøÍU TÖP. 

Or 

 (b) What are the factors contribution to Internal 
Control Systems?  

   APU Pmk¨£õmk •øÓUS ÷uøÁ¯õÚ PõμoPÒ 
¯õøÁ? 
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13. (a) State the objectives of Vouching. 

   \õßÓõ´Ä ö\´u¼ß ÷|õUP[PøÍU TÖP. 

Or 

 (b) Explain the statutory duties of a Company auditor. 

   {Ö©z uoUøP¯õÍ›ß \®hh Ÿv¯õÚ Phø©PøÍ 
ÂÍUSP. 

14. (a) What are the objectives of Verification of Assets? 

   ö\õzxUPÒ \›£õºzu›ß SÔU÷PõÒPÒ ¯õøÁ? 

Or 

 (b) What are the contents of Audit Report? 

   uoUøP AÔUøP°ß EÒÍhUP® GßÚ? 

15. (a) What are the duties and liabilities of an auditor? 

   uoUøP¯õÍ›ß Phø©PÒ ©ØÖ® ö£õÖ¨¦PÒ 
GßÚ? 

Or 

 (b) List out criminal liabilities of a company. 

   {ÖÁÚzvß uoUøP¯õÍºPÎß SØÓÂ¯À 
ö£õÖ¨¦PøÍ £mi¯¼k[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the differences between investigation and 
auditing. 

¦»Úõ´ÄUS® uoUøPPi¯¾US® EÒÍ ÷ÁÖ£õmiøÚ 
ÂÍUS. 

17. Discuss the characteristics of Internal control. 

 APU Pmk¨ £õmiß ]Ó¨¦¯À¦PøÍ ÂÍUSP. 
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18. Explain the procedure for vouching petty cash 
transaction. 

]À»øÓ Hmiß Buõμa ^mkz uoUøP •øÓ£iøÚ 
ÂÍUSP. 

19. Discuss the duties of auditor as regard to Valuation of 
stock. 

C¸¨¦ \μUøP ©v¨¤kÁvÀ uoUøP¯õÍ›ß Phø©PøÍ 
ÂÍUSP. 

20. Summarize briefly the civil liabilities of an auditor.  

 J¸ uoUøP¯õÍ›ß ]ÂÀ ö£õÖ¨¦PøÍ _¸UP©õP 
öuõSUPÄ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Who is an innovator? 

 ¦vuõPzxÁ[S£Áº ¯õº? 

2. Who are agricultural entrepreneurs? 

 ÂÁ\õ¯ öuõÈÀ •øÚ÷ÁõºPÒ ¯õº? 

3. What do you mean by advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ ö\õÀ¾QÕºPÒ? 

4. What is direct marketing? 

 ÷|μi \¢øu¨£kzuÀ GßÓõÀ GßÚ? 

5. What is DIC? 

 DIC GßÓõÀ GßÚ? 

6. What are development banks? 

 ÁÍºa] Á[QPÒ GßÓõÀ GßÚ? 
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7. Define the term project. 

 vmhzvß Põ»zøu Áøμ¯ÖUPÄ®. 

8. What is a business plan? 

 ÁoPz vmh® GßÓõÀ GßÚ? 

9. What is entrepreneurship development?  

 öuõÈÀ•øÚÄ ÁÍºa] GßÓõÀ GßÚ? 

10. Who are women entrepreneurs? 

 ö£s öuõÈÀ•øÚ÷Áõº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What are the characteristics of entrepreneur? 

  öuõÈÀ •øÚ÷Áõ›ß £s¦PÒ ¯õøÁ? 

Or 

 (b) How does the social factors influencing 
entrepreneur? 

  \‰P PõμoPÒ öuõÈÀ•øÚ÷Áõøμ GÆÁõÖ 
£õvUQßÓÚ. 

12. (a) How will you decide on the promotional budget? 

  ÂÍ®£μ ÁμÄ ö\»Ä vmh® GÆÁõÖ •iÄ 
ö\´ÃºPÒ? 

Or 

 (b) What are the factors influencing the plant layout? 

  Bø» Aø©¨ø£ £õvUS® PõμoPÒ GßÚ? 
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13. (a) State the function of DIC. 

  DIC&Cß ö\¯À£õmøhU SÔ¨¤hÄ®. 

Or 

 (b) Write about the role of commercial banks in 
financing industrial units. 

  öuõÈÀxøÓ A»SPÐUS {v¯Î¨£x ÁoP 
Á[QPÎß £[S £ØÔ GÊx[PÒ. 

14. (a) What are the contents of a business plan? 

  J¸ ÁoP vmhzvß EÒÍhUP® GßÚ? 

Or 

 (b) List out the types of project. 

  vmh ÁøPPøÍ £mi¯¼k[PÒ. 

15.  (a) What are the roles of EDP? 

  EDP&°ß £[S GßÚ? 

Or 

 (b) What are the features governing the development of 
women entrepreneurs? 

  ö£s öuõÈÀ •øÚ÷Áõ›ß ÁÍºa]ø¯ 
{ºn°US® PõμoPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different types of entrepreneurs. 

 öuõÈÀ •øÚ÷Áõ›ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

17. Discuss the procedure for registering a firm. 

 {ÖÁÚzøu £vÄ ö\´ÁuØPõÚ |øh•øÓ £ØÔ ÂÁõv. 
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18. Discuss the institutional support provided to 
entrepreneurs in TamilNadu. 

 uªÌ|õmiÀ öuõÈÀ •øÚ÷Áõ¸US ÁÇ[P¨£mh {ÖÁÚ 
BuμÄ £ØÔ ÂÁõv. 

19. Explain as to how will you formulate a business plan. 

 }[PÒ G¨£i ÁoP vmhzøu E¸ÁõUSÃºPÒ Gß£øu 
ÂÍUSP. 

20. Examine sickness in small scale industries and their 
remedial measures. 

 ]ÖöuõÈÀPÎÀ EÒÍ ÷|õ´ ©ØÖ® {Áõμn 
|hÁiUøPPøÍ Bμõ²[PÒ. 

  
 

———————— 


